

Kansas Register

Ron Thornburgh, Secretary of State

Vol. 24, No. 49 December 8, 2005 Pages 1787-1816

his issue	Page
Department of Administration Public notice	1788
Pooled Money Investment Board Notice of investment rates.	
Kansas State University Notice to bidders	
Kansas Commission on Veterans' Affairs Notice of meeting	
Kansas Department of Transportation Request for comments on the Statewide Transportation Improvement Program	
Department of Administration—Division of Facilities Management Notice to architectural and engineering firms	
Secretary of State Code mortgage rate for December Usury rate for December Notice of corporations forfeited	
Kansas Insurance Department Notices of hearing on proposed administrative regulations	1790, 1791
Department of Revenue Notice of available publications	1791
Legislative interim committee schedule	
Kansas Development Finance Authority Notice of hearing on proposed revenue bonds	1793
Kansas Children's Cabinet and Trust Fund Notice of meeting	
City of Wichita Notice to bidders	
University of Kansas Notice to bidders	
Leavenworth County Port Authority Request for proposals	1794
Department of Health and Environment Requests for comments on proposed air quality permits	
Department of Administration—Division of Purchases Notice to bidders for state purchases	1796
Permanent Administrative Regulations State Conservation Commission	
Temporary Administrative Regulations Kansas Lottery	
Index to administrative regulations	1810

Department of Administration

Public Notice

Under requirements of K.S.A. 65-34,117 (c), records of the Division of Accounts and Reports show the unobligated balances are \$3,808,472.38 in the underground petroleum storage tank release trust fund and \$1,818,070.99 in the aboveground petroleum storage tank release trust fund at November 30, 2005.

Duane Goossen Secretary of Administration

Doc. No. 032661

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d), 75-4201(l) and 75-4209(a)(1)(B).

Effective 12-5-05 through 12-11-05

	O
Term	Rate
1-89 days	4.01%
3 months	4.00%
6 months	4.31%
1 year	4.43%
18 months	4.41%
2 years	4.42%

Derl S. Treff Director of Investments

Doc. No. 032643

State of Kansas

Kansas State University

Notice to Bidders

Sealed bids for the items listed below will be received by the Kansas State University Purchasing Office, Manhattan, until 2 p.m. on the date indicated and then will be publicly opened. Interested bidders may call (785) 532-6214 or fax (785) 532-5577 for additional information:

Wednesday, December 21, 2005

#6071

Lease of Digital Color Copier/Network Printer

Carla K. Bishop Director of Purchasing

Doc. No. 032668

State of Kansas

Commission on Veterans' Affairs

Notice of Meeting

The Kansas Commission on Veteran's Affairs will host a telephonic meeting at 1 p.m. Friday, December 16. The public is invited to attend at one of the following locations: KCVA Central Office, Suite 701, Jayhawk Tower, 700 S.W. Jackson, Topeka; conference room, Eisenhower Administration Building, Kansas Soldiers' Home, 714 Sheridan, Fort Dodge; and MacArthur Room, Timmerman Administration Building, Kansas Veterans' Home, 1220 WWII Memorial Drive, Winfield. For more information, call (785) 296-3976.

George Webb Executive Director

Doc. No. 032650

The KANSAS REGISTER (USPS 0662-190) is an official publication of the State of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly by the Kansas Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies may be purchased, if available, for \$2 each. **Periodicals postage paid at Topeka, KS.**

POSTMASTER: Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2005. Reproduction of this publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

PUBLISHED BY Ron Thornburgh Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 (785) 296-4564 www.kssos.org



Register Office: 1st Floor, Memorial Hall (785) 296-3489 Fax (785) 368-8024 kansasregister@kssos.org

Department of Transportation

Request for Comments

The Kansas Department of Transportation requests comments on the amendment of the Statewide Transportation Improvement Program (STIP) FY 2006-2008 by adding the following project:

Project C-4336-01, Bituminous surfacing, RS-255 from the Ford/Hodgeman county line north to K-156, Hodgeman County

The amendment of the STIP requires a 30-day public comment period. To receive more information on any of these projects or to make comments on the STIP amendment, contact the Kansas Department of Transportation, Bureau of Program and Project Management, 2nd Floor Tower, Eisenhower State Office Building, 700 S.W. Harrison, Topeka, 66603-3754, (785) 296-3526, fax (785) 368-6664.

This information is available in alternative accessible formats. To obtain an alternative format, contact the KDOT Bureau of Transportation Information, (785) 296-3585 (Voice/TTY).

The comment period regarding the STIP amendment will conclude January 9.

Deb Miller Secretary of Transportation

Doc. No. 032659

State of Kansas

Department of Administration Division of Facilities Management

Notice to Architectural and Engineering Firms

The Kansas Department of Administration is inviting all firms interested in providing architectural (including landscape services) and/or engineering services for capital improvement projects to provide a statement of qualifications and performance data to the State Building Advisory Commission and the Division of Facilities Management, a division of the Department of Administration

In order to be eligible, each proposing firm must have a professional architect or engineer who is registered with the State Board of Technical Professions in the discipline in which the firm is seeking work. This individual also must seal the original bid documents.

The statement of qualifications form must be a completed Federal SF 330 Part II, submitted to Phyllis Fast, Division of Facilities Management, Suite 600, Landon State Office Building, 900 S.W. Jackson, Topeka, 66612-1311, by 5 p.m. January 31. For additional information, contact Phyllis Fast at (785) 296-5796, fax (785) 296-3456, or e-mail: Phyllis.Fast@da.state.ks.us.

D. Keith Meyers Director, Division of Facilities Management

Doc. No. 032648

State of Kansas

Secretary of State

Code Mortgage Rate for December

Pursuant to the provisions of K.S.A. 2004 Supp. 16a-1-301, Section 11, the code mortgage rate during the period of December 1, 2005 through December 31, 2005, is 12 percent.

Ron Thornburgh Secretary of State

Doc. No. 032647

State of Kansas

Secretary of State

Usury Rate for December

Pursuant to the provisions of K.S.A. 2004 Supp. 16-207, the maximum effective rate of interest per annum for notes secured by all real estate mortgages and contracts for deed for real estate (except where the note or contract for deed permits adjustment of the interest rate, the term of the loan or the amortization schedule) executed during the period of December 1, 2005 through December 31, 2005, is 7.64 percent.

Ron Thornburgh Secretary of State

Doc. No. 032646

State of Kansas

Secretary of State

Notice of Corporations Forfeited

In accordance with K.S.A. 17-7510, the articles of incorporation of the following corporations organized under the laws of Kansas and the authority of the following foreign corporations authorized to do business in Kansas were forfeited during the month of November 2005 for failure to timely file an annual report and pay the annual franchise tax as required by the Kansas general corporation code:

Domestic Corporations

Alexander & Fraser, Inc., Wichita, KS. Bailey Electric, Inc., Tonganoxie, KS. Bewal, Inc., Wichita, KS. Bob Ammon Painting, Inc., Shawnee Mission, KS. Buyers & Builders, Inc., Salina, KS. Central Pallet and Recycle, Inc., Hutchinson, KS. Cheers Construction Inc., Wichita, KS. CLH, Inc., Wichita, KS. Contenders Unlimited, Inc., Lenexa, KS. Country Side Autobody, Inc., Stilwell, KS. Deerfield Feedyard, LLC, Elkhorn, NE. Dierking Lumber & Home Center, Inc., Marysville, KS. Fox Lake Club of Cassoday, Wichita, KS. Healthwise, Inc., Topeka, KS. Hearthside Homes, L.L.C., Overland Park, KS. Heinen Insulation, Inc., Valley Falls, KS. J-Sher Enterprises, Inc., Shawnee Mission, KS. K.K. Langford, Inc., Kansas City, KS. Kiowa Service, Inc., Kiowa, KS. M. E. Spikes, Inc., Wichita, KS.

Magnum Express, Inc., Shawnee Mission, KS. Mayberry Company, Inc., Kiowa, KS. Meadowbrook Investors, L.C., Lawrence, KS. Morgenstern Family Equities L.L.C., Ellinwood, KS. New Testament Baptist Church, Wichita, KS. NTG, Inc., Overland Park, KS. Paladin, Inc., Overland Park, KS. Phil Schmidt, Inc., Anthony, KS. PJR II, Inc., Silver Lake, KS. Plaza Del Sol, Inc., Wichita, KS. Product Development Group Incorporated, Haysville, KS. Ralston Const., Inc., Phillipsburg, KS. S & R Equipment, Inc., Kiowa, KS. TE Ray's Clothing, Inc., Topeka, KS. The Israel of God Church, Inc., Meriden, KS. Token, Inc., Gardner, KS. Twin Ag Farms, Inc., Hoxie, KS. W.W. Investors, Inc., Garden Plain, KS. Wayne Line, Inc., Cherryvale, KS. Western Kansas Trucking, Inc., St. Francis, KS. Wholesale Siding Supply, Inc., Wichita, KS. Wood Valley Farm, Inc., Topeka, KS. Wrangler Cattle Co., Inc., Garden City, KS.

Foreign Corporations

American Eagle Industries, Inc., Nunn, CO.
Ciena Communications, Inc., Linthicum, MD.
Crenshaw Sawmill & Logging, Inc., Carrollton, MO.
Daktronics, Inc., Brookings, SD.
Elekta, Inc., Norcross, GA.
Ferrel's Card Shop, Inc., Lee's Summit, MO.
First Investors Financial Services, Inc., Houston, TX.
Gottsch Feeding Corporation, Elkhorn, NE.
Hometown Appraisals, Inc., Kansas City, MO.
Maejack Corporation, Kansas City, MO.
National Healthcare Review, Inc., Woodland Hills, CA.
SKO Management, Inc., Las Vagas, NV.
Skyway Communications Holding Corp., Clearwater, FL.
Western Star Ag Resources, Inc., Salina, KS.
Woodcraft Supply Corp., Parkerburg, WV.

Ron Thornburgh Secretary of State

Doc. No. 032669

State of Kansas

Kansas Insurance Department

Notice of Hearing on Proposed Administrative Regulations

A public hearing will be conducted at 1:30 p.m. Wednesday, February 8, in the third floor conference room, Kansas Insurance Department, 420 S.W. 9th, Topeka, to consider the adoption of proposed changes in existing rules and regulations.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed rules and regulations. All interested parties may submit written comments prior to the hearing to Deletria Nash, Kansas Insurance Department, 420 S.W. 9th, Topeka, 66612-1678, via facsimile at (785) 291-3673, or via e-mail at dnash@ksinsurance.org. All interested parties will be given a reasonable opportunity to present their views orally on the adoption of the proposed regulations during the hearing.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statements in an accessible format. Requests for accommodation should be made at least five working days in advance of the hearing by contacting Deletria Nash at (785) 296-4140 or via e-mail at dnash@ksinsurance.org.

A copy of the regulations and the policy and procedure that is being adopted by reference, if applicable, may be obtained from the department's Web site, www. ksinsurance.org (under the "Legal Issues" link), or by contacting Deletria Nash. The charge for copies is 50 cents per page. A summary of the regulations and their economic impact follows:

K.A.R. 40-3-5. Fire and casualty insurance; rating organizations; filing of forms. This proposed regulation defines terms applicable to rating organizations and outlines the requirements for filing forms with the Commissioner of Insurance. The primary changes to K.A.R. 40-3-5 are the removal of repealed statutes and the addition of current ones. The remaining changes are technical.

There is no economic impact on insurers, consumers, the Kansas Insurance Department, and other governmental agencies, if any.

K.A.R. 40-3-12. Fire and casualty insurance companies; rating plans; requirements. This proposed regulation defines terms applicable to rating plans and outlines the requirements for individual risk rating plans. The primary changes to K.A.R. 40-3-12 are the removal of repealed statutes and the addition of current ones. The remaining changes are technical.

There is no economic impact on insurers, consumers, the Kansas Insurance Department, and other governmental agencies, if any.

K.A.R. 40-3-47. Fire and casualty insurance; rating organizations; filing of final rates prohibited; kinds of insurance affected. This proposed regulation specifies which lines of business rating organizations must develop forms for and file those forms with the Commissioner of Insurance for perspective loss cost. The primary changes to K.A.R. 40-3-47 are the removal of repealed statutes and the addition of current ones as well as the removal of deadlines that have passed for developing and filing forms for certain lines of business.

The department has created a policy and procedure regarding perspective loss costs filings that adopts by reference the March 20, 1990, edition of the National Association of Insurance Commissioners' Prospective Loss Costs Filing forms entitled "Insurer Rate Filing Adoption of Rating Organization Prospective Loss Costs Reference Filing Form" and "Insurer Rate Filing Adoption of Rating Organization Prospective Loss Costs Summary of Supporting Information Form." The remaining changes are technical.

There is no economic impact on insurers, consumers, the Kansas Insurance Department, and other governmental agencies, if any.

> Sandy Praeger Kansas Insurance Commissioner

Doc. No. 032660

Kansas Insurance Department

Notice of Hearing on Proposed Administrative Regulations

A public hearing will be conducted at 1:30 p.m. Thursday, February 9, in the third floor conference room, Kansas Insurance Department, 420 S.W. 9th, Topeka, to consider the adoption of proposed changes in existing rules and regulations.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed rules and regulations. All interested parties may submit written comments prior to the hearing to Deletria Nash, Kansas Insurance Department, 420 S.W. 9th, Topeka, 66612-1678, via facsimile at (785) 291-3673, or via e-mail at dnash@ksinsurance.org. All interested parties will be given a reasonable opportunity to present their views orally on the adoption of the proposed regulations during the hearing.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statements in an accessible format. Requests for accommodation should be made at least five working days in advance of the hearing by contacting Deletria Nash at (785) 296-4140 or via e-mail at dnash@ksinsurance.org.

A copy of the regulations and the policy and procedure that is being adopted by reference, if applicable, may be obtained from the department's Web site, www. ksinsurance.org (under the "Legal Issues" link), or by contacting Deletria Nash. The charge for copies is 50 cents per page. A summary of the regulations and their economic impact follows:

K.A.R. 40-1-48. Risk-based capital instructions for health organizations. This proposed regulation adopts by reference the National Association of Insurance Commissioners' ("NAIC") health risk-based capital reports, including overview and instructions, for companies. Risk-based capital is a method of measuring the minimum amount of capital appropriate for an insurance entity to support its overall business operation in consideration of its size and risk profile. Risk-based capital standards for health organizations were enacted in Kansas in the year 2000 and have recently been amended. This regulation sets out the requirements and format of the risk-based capital report that all domestic health organizations are required to file each year.

The economic impact on companies, if any, is positive because the reports that are required to file in Kansas are uniform formats as established by the NAIC. NAIC rules, regulations and instructions are promulgated after input from the insurance industry and regulators nationwide. Companies will generally be familiar with the format and requirements of these reports.

There will be no economic impact on the Kansas Insurance Department or other governmental agencies.

K.A.R. 40-3-48. Insurance companies; managing general agents; definitions; requirements. This proposed

regulation defines "managing general agent" and "total annual written premium." It also outlines requirements for fidelity bonds, contractual requirements between managing general agents and insurers, and record keeping requirements.

The requirement for managing general agents to maintain errors and omissions policies has been deleted. In conjunction with this deletion is the elimination of this requirement and the requirement for managing general agents to obtain errors and omissions policies by an insurer admitted to write business in Kansas, as well as providing proof to the Kansas Insurance Department.

The remaining changes to K.A.R. 40-3-48 are technical. There is no economic impact on insurers, consumers, the Kansas Insurance Department, and other governmental agencies, if any.

Sandy Praeger Kansas Insurance Commissioner

Doc. No. 032662

State of Kansas

Department of Revenue

Notice of Available Publications

Listed below are all the Private Letter Rulings, Opinion Letters, Final Written Determinations, Revenue Rulings, Memorandums, Property Valuation Division Directives, Q&A's, Information Guides and Notices published by the Department of Revenue for November 2005. Copies may be obtained by accessing the Policy Information Library located on the Internet at www.ksrevenue.org or by calling the Office of Policy and Research at (785) 296-3081.

Private Letter Rulings

P-2005-028 Sales of restaurant equipment to American Legion and VFW posts.

Opinion Letters

No new publications

Final Written Determinations

No new publications

Revenue Rulings

No new publications

Notices

Notice 05-08 Local Sales Tax on Water.

Memorandums

No new publications

Property Valuation Division Directives

No new publications

Q&A's

Q&A

Calculation of HPIP Qualified Business Facility Investment Tax Credits effective for all taxable years commencing after December 31, 2005.

Information Guides

No new publications

Joan Wagnon Secretary of Revenue

Doc. No. 032657

Legislature

Interim Committee Schedule

The following committee meetings have been scheduled during the period of December 12-20. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at (785) 296-2391 or TTY (785) 296-8430. When available, agendas can be found at http://kslegislature.org/klrd.

Date	Room	Time	Committee	Agenda
Dec. 12	514-S	10:00 a.m.	Legislative Budget Committee	Review committee reports and make final recommendations.
Dec. 12 Dec. 13	526-S 526-S	10:00 a.m. 9:00 a.m.	Joint Committee on Information Technology	12th: a.m Quarterly IT report and three-year plans.p.m Reports on agency projects.13th: Discussion and recommendations for committee report to Legislature.
Dec. 12 Dec. 13	123-S 123-S	10:00 a.m. 9:00 a.m.	Legislative Educational Planning Committee	12th: Reports on: USD nutrition programs; Board of Regents on developmental education; area vocational school/technical college funding; and review of bill drafts and committee report (partial). 13th: Reports on: Midwest Higher Education Commission; Kansas Center for Performance Excellence; issues relating to teacher education program approval and University of Phoenix; activities of Joint Transition Council; Standard and Poor's on school district efficiency; and six No Child Left Behind blue ribbon schools.
Dec. 13	514-S	9:30 a.m.	Joint Committee on Health Policy Oversight	Discussion of emerging public health community projects; activities of Kansas Sunflower Foundation; FirstGuard Sedgwick County pilot project; national study on treated disease and its effects on private health insurance; and current trends in Kansas health care costs and insurance.
Dec. 14	519-S	9:00 a.m.	Health Care Stabilization Fund Oversight Committee Note: Date and room have changed from prior Dec. 2 date.	Review of the Health Care Stabilization Fund and oversight activities.
Dec. 14 Dec. 15	514-S 514-S	10:00 a.m. 9:00 a.m.	Joint Committee on Economic Development	Workforce development.
Dec. 14 Dec. 15	313-S 313-S	9:30 a.m. 9:00 a.m.	Select Joint Committee on Energy	Review the current status of Kansas energy policy, including a review of energy production.
Dec. 14	123-S 241-N 526-S	9:00 a.m.	Kansas Criminal Justice 3-Rs Project Committee	a.m. - Recodification, Behavioral Health, and Re-entry subcommittee meetings. p.m. - Behavioral Health, Re-entry, and Recodification subcommittee meetings.
Dec. 15	241-N	8:30 a.m.	Kansas Criminal Justice 3-Rs Project Committee	Proposed legislation on DUI treatment facility; financial and subcommittee reports; and recommendations/policy statements.
Dec. 15	519-S	10:00 a.m.	Legislative Post Audit	Contracted audits: State Treasurer's Office, Pooled Money Investment Board and KPERS; evaluation of Post Auditor; and update on status of education cost study.

Dec. 19	123-S	TBA	Legislative Coordinating Council	Legislative matters.
Dec. 20	519-S	9:00 a.m.	Joint Committee on Pensions, Investments, and Benefits	Review interim topics, conclusions and recommendations.

Jeffrey M. Russell Director of Legislative Administrative Services

Doc. No. 032656

State of Kansas

Kansas Development Finance Authority Notice of Hearing

A public hearing will be conducted at 9 a.m. Thursday, December 22, in the offices of the Kansas Development Finance Authority, 555 S. Kansas Ave., Suite 202, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the respective borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond of acquiring the project or for the purpose of refunding a bond previously issued to finance the project. The project shall be located as shown:

Project No. 000649—Maximum Principal Amount: \$57,500. Owner/Operator: Jason Gaeddert. Description: Acquisition of 50 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes. The project is located at Section 31, Township 21, McPherson County, Kansas, approximately 4 miles east and 2 miles north of Buhler.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

All individuals who appear at the hearing will be given an opportunity to express their views, and all written comments previously filed with the KDFA at its offices at 555 S. Kansas Ave., Suite 202, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

Any individual affected by the above-described project may, at or prior to the hearing, file a written request with the KDFA that a local hearing be held on the proposal to issue a bond to finance said project. A local hearing, if requested, would be conducted in the county where the project in question is located.

> Stephen R. Weatherford President

Doc. No. 032649

State of Kansas

Children's Cabinet and Trust Fund

Notice of Meeting

The Kansas Children's Cabinet and Trust Fund will conduct a cabinet meeting from 9 a.m. to 3 p.m. Wednesday, December 14, at the old Hayden High School Building, lower level, 212 W. 8th Ave., Topeka. For more information, contact Dyogga Adegbore, program consultant, at (785) 368-7044. Public comments and questions are a part of every Children's Cabinet meeting.

Jim Redmon Executive Director

Doc. No. 032653

(Published in the Kansas Register December 8, 2005.)

City of Wichita, Kansas

Notice to Bidders

The city of Wichita will receive bids at the Purchasing Office, 455 N. Main, 12th Floor, Wichita, 67202, until 10 a.m. Friday, January 13, for the following project:

(KDOT Project No. 87N-0190-01/472-84235/205389) (OCA Code 706923) Paving/KDOT

21st Street North from Oliver to Woodlawn

Plans and specifications for this project will be available December 14. Requests for the bid documents and plans should be directed to City Blue Print at (316) 265-6224 or Marty Murphy at (316) 268-4488. Other questions should be directed to the respective design engineer, (316) 268-4501.

All bids received will thereafter be publicly opened, read aloud, and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the city manager and according to plans and specifications on file in the office of the city engineer. Bidders are required to enclose a bid bond in the amount of 5 percent with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Kim Pelton at (316) 268-4499 for extra sets of plans and specifications.

Marty Murphy Administrative Aide City of Wichita—Engineering

Doc. No. 032652

Vol. 24, No. 49, December 8, 2005

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Aquila Inc., Arthur Mullergren Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et seq. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Aquila Inc., Arthur Mullergren Station, 20 W. 9th St., Kansas City, Missouri, owns and operates an electrical generation facility located at 335 N.W. 50 Ave., Great Bend, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for a 30-day public review during normal business hours at the KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE Northwest District Office, 2301 E. 13th, Hays. To obtain or review the proposed permit and supporting documentation, contact Dayne Moreton, (785) 296-1691, at the KDHE central office; and to review the proposed permit only, contact Richard Robinson, (785) 625-5663, at the KDHE Northwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Dayne Moreton, KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received before the close of business January 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Christy Thurman, Bureau of Air and Radiation, not later than the close of business January 9 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Jon Knodel, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 901 N. 5th St., Kansas City, KS 66101, (913) 551-7622, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 032667

State of Kansas

University of Kansas

Notice to Bidders

Sealed bids for the items listed below will be received by the University of Kansas Purchasing Office, Lawrence, until 2 p.m. on the date indicated and then will be publicly opened. Interested bidders may call (785) 864-3416 or fax (785) 864-3454 for additional information:

Tuesday, December 20, 2005 RFQ 44837 Paratech Equipment RFQ 44836 Fire Rescue Tool Kit

> Barry Swanson Associate Comptroller and Director of Purchasing

Doc. No. 032664

(Published in the Kansas Register December 8, 2005.)

Leavenworth County Port Authority

Request for Proposals

The Leavenworth County Port Authority (LCPA) seeks proposals through the Leavenworth Area Development Corporation (LAD) for the construction of a 10,000 square foot pre-engineered metal building to be located on Lot 17, Urban Hess Business Center, in Tonganoxie. For a proposed site plan and details on the specifications, contact Deirdre Hock, Economic Development Coordinator, Leavenworth Area Development, 1294 Eisenhower Road, Leavenworth, 66048, (913) 727-6111 or fax (913) 727-5515, or e-mail: deirdre@lvarea.com.

Sealed bids will be received at the LAD/LCPA office until 4 p.m. January 9. Bids may be held by the LCPA for a period not to exceed 60 days from the date of the opening of bids for the purpose of reviewing the bids and investigating the qualifications of bidders, prior to awarding the contract. LCPA reserves the right to reject any or all bids or to waive any informalities in the bidding.

Deirdre Gamill Hock Economic Development Coordinator

Doc. No. 032655

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. KBK Industries, Inc. has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et seq. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

KBK Industries, Inc., Rush Center, Rush County, owns and operates a fiberglass manufacturing facility located at E. Highway 96, Rush Center.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for a 30-day public review during normal business hours at the KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE Northwest District Office, 2301 E. 13th, Hays. To obtain or review the proposed permit and supporting documentation, contact Rasha Allen, (785) 296-1693, at the KDHE central office; and to review the proposed permit only, contact Richard Robinson, (785) 625-5663, at the KDHE Northwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Rasha Allen, KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received before the close of business January 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Christy Thurman, Bureau of Air and Radiation, not later than the close of business January 9 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Jon Knodel, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 901 N. 5th St., Kansas City, KS 66101, (913) 551-7622, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 032651

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Greif, Inc. has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et seq. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Greif, Inc., 425 Winter Road, Delaware, Ohio, manufactures steel drums located at 7604 Railraod Ave., Winfield, Cowley County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for a 30-day public review during normal business hours at the KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE South Central District Office, 130 S. Market, Suite 6050, Wichita. To obtain or review the proposed permit and supporting documentation, contact Amer Safadi, (785) 296-1993, at the KDHE central office; and to review the proposed permit only, contact David Butler, (316) 337-6020, at the KDHE South Central District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Amer Safadi, KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received before the close of business January 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Christy Thurman, Bureau of Air and Radiation, not later than the close of business January 9 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to

the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Jon Knodel, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 901 N. 5th St., Kansas City, KS 66101, (913) 551-7622, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 032665

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality-operating permit. The city of Greensburg Municipal Power Plant has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et seq. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

The city of Greensburg, 239 S. Main, Greensburg, owns and operates an electrical generation facility located at 400 N. Main, Greensburg.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for a 30-day public review during normal business hours at the KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE South Central District Office, 130 S. Market, sixth floor, Wichita. To obtain or review the proposed permit and supporting documentation, contact Dayne Moreton, (785) 296-1691, at the KDHE central office; and to review the proposed permit only, contact David Butler, (316) 337-6042, at the KDHE South Central District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Dayne Moreton, KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a

final permit decision, written comments must be received before the close of business January 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Christy Thurman, Bureau of Air and Radiation, not later than the close of business January 9 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Jon Knodel, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 901 N. 5th St., Kansas City, KS 66101, (913) 551-7622, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 032666

State of Kansas

Department of Administration Division of Purchases

Notice to Bidders

Sealed bids for items listed will be received by the Director of Purchases until 2 p.m. on the date indicated. For more information, call (785) 296-2376:

12/20/2005	08991	Mail Processing Services, Foreign
12/23/2005	08996	Capitated Managed Care Services
		for Kansas Healthwave
01/04/2006	09003	Janitorial Services
01/06/2006	08910	Network Backbone Upgrade
01/10/2006	08998	Service of Legal Process
01/31/2006	08984	Food Services

The above-referenced bid documents may be downloaded at the following Web site:

http://da.state.ks.us/purch/rfq/

Additional files may be located at the following Web site (please monitor this Web site on a regular basis for any changes/addenda):

http://da.state.ks.us/purch/adds/default.htm

Chris Howe Director of Purchases

Doc. No. 032663

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 15, 28-18a-1 through 32, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-05-309/310 Pending Permits for Confined Feeding Facilities

U		O
Name and Address of Applicant	Legal Description	Receiving Water
Sunflower Pork, Inc. (Wayne Pracht) 14406 W. 1300 Road Westphalia, KS 66093	NE/4 of Section 03, T21S, R18E, Anderson County	Marais des Cygnes River Basin

Kansas Permit No. A-MCAN-S009

This is a renewal permit for an existing facility for 400 head (160 animal units) of swine greater than 55 pounds.

Name and Address of Applicant	Legal Description	Receiving Water
Kent and Steve Tien	S/2 of Section 03,	Solomon River
1263 W. Navajo Road	T03S, R20W,	Basin
Prairie View, KS 67664-6420	Phillips County	

Kansas Permit No. A-SOPL-B001

This is a name change and permit modification for the addition of six acres of pens and increasing the capacity to 759 head (759 animal units) of cattle weighing more than 700 pounds. The swine capacity of the facility, 600 head of finishers (240 animal units), will not be changed.

Public Notice No. KS-05-185/186

Name and Address of Applicant	Waterwa	y	Type of Discharge
Jefferson County Health Department	Perry Lal	ke	Treated Domestic Wastewater
1212 Walnut			
U.S. Highway 59			
Oskaloosa, KS 66066			
Kansas Permit No. M-KS56-	-OO06	Federal Pe	rmit No. KS0093173
Legal Description: SE1/4, NE	1/4, S29, T10	S, R18E, Jeff	ferson County
Facility Name: Jefferson Co	unty Sewer	District #6 (Lake Shore Estates)
Facility Location: 9550 Pane	rama Court	, Ozawkie,	KS 66070

Facility Description: The proposed action is to reissue a permit for an existing facility treating primarily domestic wastewater. The proposed permit includes limits for biochemical oxygen demand and total suspended solids. Monitoring for ammonia, fecal coliform and pH also will be required. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-f), and Federal Surface Water Criteria, and water-quality based.

Name and Address of Applicant	Waterway	Type of Discharge
Mulvane, City of	Arkansas River	Treated Domestic
211 N. Second St.		Wastewater
Mulyana KS 67110		

Kansas Permit No. M-AR64-OO02 Federal Permit No. KS0098418 Legal Description: SW¹/₄, SW¹/₄, SW¹/₄, SG, T30S, R2E, Sumner County Facility Location: 1241 E. Pope Drive, Mulvane, KS 67110

Facility Description: The proposed action is to issue a new permit for a new facility treating primarily domestic wastewater. This new facility will replace an existing wastewater treatment facility permitted under Kansas Permit M-AR64-OO01. The proposed permit includes limits for biochemical oxygen demand, total suspended solids, ammonia, fecal coliform and pH. Monitoring for chlorides, sulfates, total phosphorus, Kjeldahl nitrogen, nitrate, nitrite, total nitrogen and effluent flow also will be required. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-f), and Federal Surface Water Criteria, and water-quality based.

Public Notice No. KS-PT-05-021

Name and Address	Receiving	Type of
of Applicant	Facility	Discharge
Neal Spencer	Ottawa POTW	Process
1510 Ñ. Davis St.		Wastewater
Ottawa, KS 66067		

Kansas Permit No. P-MC31-OO03 Federal Permit No. KSP000090 Facility Name: Ernest Spencer Custom Coating

Facility Description: The proposed action is to issue a new pretreatment permit for this facility. This facility performs job shop powder coating. Steel parts are phosphated prior to being painted, using a five-stage washer system or a pressure spray operation for large parts. These two phosphating operations are considered conversion coating operations and subject to Metal Finishing Standard, Part 433. The proposed permit includes limits for total toxic organics, cadmium, chromium, copper, lead, nickel, silver, zinc, total cyanide and pH. The monitoring of flow also will be required. The permit limits are pursuant to state and federal pretreatment requirements.

Public Notice No. KS-EG-05-014/108

In accordance with K.A.R. 28-46-7 and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, draft permits have been prepared for the use of the well(s) described below within the state of Kansas:

Name and Address of Applicant

Basic Chemicals Company, LLC 5005 LBJ Freeway Dallas, TX 75244

Facility Location: Wichita, Kansas

Well and

Permit Number	Location
Harrington 2-1 KS-03-173-264	1363.8 feet from the south line and 3076.2 feet from the ease line of Section 30-29-02W, Sedgwick County, KS (SE NE SW)
Harrington 2-2 KS-03-173-265	1575.7 feet from south line and 2860.8 feet from the east line of Section 30-29-02W, Sedgwick County, KS (SE NE SW)
Harrington 2-3 KS-03-173-266	1151.4 feet from the south line and 2876.3 feet from the east line of Section 30-29-02W, Sedgwick County, KS (NE SE SW)

Harrington 2-4
KS-03-173-267

Harrington 2-5
KS-03-173-268

1151.9 feet from the south line and 3291.5 feet from the east line of Section 30-29-02W, Sedgwick County, KS (NE SE SW)

1576.2 feet from the south line and 3285.1 feet from east line of Section 30-29-02W, Sedgwick County, KS (SE NE SW)

Facility Description: The proposed action is to issue five Class III injection well permits. The five new salt solution mining wells will produce brine by the gallery system. The injection fluids consist of fresh water and unsaturated brine. Injection into the wells will be made into the Hutchinson Salt member of the Wellington formation. The top of the cavity shall not be shallower than 250 feet below land surface and mining shall not extend into the upper 40 feet of the salt deposit. The maximum operation injection pressure is not to exceed 130 pounds per square inch at the well head. All construction, monitoring and operation of these wells will meet the requirements that apply to Class III Injection wells under the Kansas Underground Injection Control Regulations, K.A.R. 28-43-1 through 28-43-11, and Kansas Underground Injection Control Regulations, K.A.R. 28-46-1 through 28-46-44.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before January 7 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-05-309/310, KS-05-185/186, KS-PT-05-021, KS-EG-05-014/018) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the Secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdhe.state.ks.us/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 032654

State of Kansas

State Conservation Commission

Permanent Administrative Regulations

Article 11.—IRRIGATION TRANSITION ASSISTANCE PROGRAM

- **11-11-1.** (Authorized by L. 2004, ch. 123, sec. 133; implementing K.S.A. 2003 Supp. 2-1915, as amended by L. 2004, ch. 96, sec. 4, K.S.A. 2-1919, and L. 2004, ch. 123, sec. 133; effective March 11, 2005; revoked Dec. 23, 2005.)
- **11-11-2.** (Authorized by L. 2004, ch. 123, sec. 133; implementing K.S.A. 2004 Supp. 2-1915, K.S.A. 2-1919, and L. 2004, ch. 123, sec. 133; effective March 11, 2005; revoked Dec. 23, 2005.)
- **11-11-3 through 11-11-7.** (Authorized by L. 2004, ch. 123, sec. 133; implementing K.S.A. 2003 Supp. 2-1915, as amended by L. 2004, ch. 96, sec. 4, K.S.A. 2-1919, and L. 2004, ch. 123, sec. 133; effective March 11, 2005; revoked Dec. 23, 2005.)

Greg Foley Executive Director

Doc. No. 032658

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

- **111-4-2326.** "Fountain of \$50s" instant ticket lottery game number 522. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Fountain of \$50s" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2326.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$2.00	TWO\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
$50^{.00}$	FIFTY
\$500\$	FIVE-HIIN

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket TWO = \$2.00

FIV	=	\$5.00
TEN	=	\$10.00
FTN	=	\$15.00
FTY	=	\$50.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Fountain of \$50s" is a match three of six game. A player will remove the scratch-off material over the game play area to reveal six prize amounts. If three of the six prize amounts are identical, the player wins that prize amount.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	108,000	\$0
3 - \$2.00's	\$2	42,000	84,000
3 - \$5.00's	\$5	20,400	102,000
3 - \$10.00's	\$10	5,550	55,500
3 - \$15.00's	\$15	3,297	49,455
3 - \$50.00's	\$50	3,300	165,000
3 - \$500.00's	\$500	<u>15</u>	7,500
TOTAL		<u>182,562</u>	\$463,455

- (k) The odds of winning a prize in this game are approximately one in 4.93. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2327.** "High-Flying \$100s" instant ticket lottery game number 523. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "High-Flying \$100s" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2327.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$2.00	TWO\$
\$5.00	FIVE\$
25.00	TWEN-FIV
$50^{.00}$	FIFTY
\$100\$	ONE-HUN
\$1000	ONETHOU

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

- FRE Free Ticket **TWO** = \$2.00 FIV = \$5.00 TWF = \$25.00 FTY =\$50.00 HUN \$100.00
- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "High-Flying 100s" is a match three of six prize amounts game. The player will remove the latex covering the play area to reveal six prize amounts. If the player matches three like prize amounts, the player wins that amount.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	108,000	\$0
\$2	42,000	84,000
\$5	18,300	91,500
\$25	1,800	45,000
\$50	1,110	55,500
\$100	1,800	180,000
\$1,000	9	9,000
	<u>173,019</u>	\$465,000
	Free Ticket \$2 \$5 \$25 \$50 \$100	Prize Prizes in Game Free Ticket 108,000 \$2 42,000 \$5 18,300 \$25 1,800 \$50 1,110 \$100 1,800 \$1,000 9

- (k) The odds of winning a prize in this game are approximately one in 5.20. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2328.** "Triple Tripler" instant ticket lottery game number 524. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Triple Tripler" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2328.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THR\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$18^{.00}$	EGTEEN
$30^{.00}$	THIRTY
$90^{.00}$	NINETY
\$1000	ONETHOU
\$2000	TWOTHOU
\$6000	SIXTHOU
SINGLE PRIZE	
TRIPLE PRIZE	
TRIPLE TRIPLER	

(c) For this game, a play symbol shall appear in each of seven play spots within the play area or areas.

- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

ONE	=	\$1.00
THR	=	\$3.00
FIV	=	\$5.00
SIX	=	\$6.00
NIN	=	\$9.00
FTN	=	\$15.00
EGN	=	\$18.00
TRY	=	\$30.00
NTY	=	\$90.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Triple Tripler" is a match three of six game with a triple prize and a "Triple Tripler" feature. A player will remove the scratch-off material covering the game play area to reveal six prize amounts and a "YOUR PRIZE LEVEL." The "YOUR PRIZE LEVEL" will be either the words "SINGLE PRIZE," the words "TRIPLE PRIZE," or the words "TRIPLE TRIPLER." If a player matches three like prize amounts and the words "SINGLE PRIZE" are revealed, the player will win the prize amount matched. If a player matches three like prize amounts and the words "TRIPLE PRIZE" are revealed, the player will win triple the prize amount matched. If a player matches three like prize amounts and the words "TRIPLE TRIPLER" are revealed, the player will win nine times the prize matched.
 - (h) Each ticket in this game may win one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

<u> </u>	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - \$1 + single prize	\$1	75,000	\$75,000
3 - \$1 + triple prize	\$3	22,500	67,500
3 - \$3 + single prize	\$3	22,500	67,500
3 - \$5 + single prize	\$5	12,600	63,000
3 - \$2 + triple prize	\$6	7,800	46,800
3 - \$1 + triple tripler	\$9	5,316	47,844
3 - \$5 + triple prize	\$15	2,550	38,250
3 - \$2 + triple tripler	\$18	1,035	18,630
3 - \$18 + single prize	\$18	1,035	18,630
3 - \$30 + single prize	\$30	375	11,250
3 - \$10 + triple prize	\$30	378	11,340
3 - \$10 + triple tripler	\$90	129	11,610
3 - \$90 + single prize	\$90	129	11,610
3 - \$1,000 + triple prize	\$3,000	4	12,000
3 - \$6,000 + single prize	\$6,000	2	12,000
3 - \$2,000 + triple prize	\$6,000	3	18,000
TOTAL		151,356	\$530,964

(k) The odds of winning a prize in this game are approximately one in 5.95. (Authorized by K.S.A. 74-8710;

implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)

- **111-4-2329.** "Double Doubler" instant ticket lottery game number 525. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Double Doubler" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2329.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
20.00	TWENTY
$40^{.00}$	FORTY
\$2500	TWYFHUN
\$5000	FIVETHOU
SINGLE PRIZE	
DOUBLE PRIZE	
DOUBLE DOUBLER	

- (c) For this game, a play symbol shall appear in each of seven play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

ONE	=	\$1.00
TWO	=	\$2.00
FOR	=	\$4.00
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
FRY	=	\$40.00
ETY	=	\$80.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Double Doubler" is a match three of six game with a "DOUBLE PRIZE" and a "DOUBLE DOUBLER" feature. A player will remove the scratch-off material covering the game play area to reveal six prize amounts and a "PRIZE LEVEL." The "PRIZE LEVEL" will be either the words "SINGLE PRIZE," the words "DOUBLE PRIZE," or the words "DOUBLE DOUBLER." If a player matches three like prize amounts and the words "SINGLE PRIZE" are revealed, the player wins the prize amount shown. If a player matches three like prize amounts and the words "DOUBLE PRIZE" are revealed, the player wins double the prize amount shown. If a player matches three like prize amounts and the words "DOUBLE DOUBLER" are revealed, the player wins four times the prize amount shown.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes

per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected
Get	Prizes	Prizes in Game	Value in Game
3 - \$1's + (single prize)	\$1	69,000	\$69,000
3 - \$2's + (single prize)	\$2	18,600	37,200
3 - \$1's + (double prize)	\$2	24,000	48,000
3 - \$1's + (double doubler)	\$4	10,200	40,800
3 - \$5's + (single prize)	\$5	12,900	64,500
3 - \$5's + (double prize)	\$10	9,000	90,000
3 - \$5's + (double doubler)	\$20	5,400	108,000
3 - \$20's + (double prize)	\$40	420	16,800
3 - \$40's + (single prize)	\$40	210	8,400
3 - \$20's + (double doubler)	\$80	45	3,600
3 - \$2,500's + (single prize)	\$2,500	2	5,000
3 - \$5,000's + (double prize)	\$10,000	2	20,000
3 - \$2,500's + (double doubler)	\$10,000	2	20,000
TOTAL		149,781	\$531,300

- (k) The odds of winning a prize in this game are approximately one in 6.01. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2330.** "Super Red Hot Crossword" instant ticket lottery game number 529. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Super Red Hot Crossword" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2330.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
\$5.00	FIVE\$
10.00	TEN\$
$15^{.00}$	FIFTEEN
$20^{.00}$	TWENTY
25.00	TWEN-FIV
$50^{.00}$	FIFTY
75.00	SVTYFIV
\$100\$	ONE-HUN
A	
В	
C	
D	
E	
F	
G	
H	
Ĭ	
J	
K	
L	
M	
N	
O P	
P	
Q R	
S S	
T	
Ü	
V	
v	

W

X Y Z GOOD LUCK MAYBE NEXT TIME

- (c) For this game, a play symbol shall appear in each of 20 play spots within the "YOUR LETTERS" play area, in one spot within the "BONUS" play area, and a variable number of times within each of the two (2) crossword puzzle grids.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free ticket
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
TWF	=	\$25.00
FTY	=	\$50.00
STF	=	\$75.00
HUN	=	\$100.00
THN	=	\$200.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (g) "Super Red Hot Crossword" features four separate play areas, a "YOUR LETTERS" area, two crossword puzzle grids, and a bonus area. The letters in the top puzzle will be imaged in black. The letters in the bottom puzzle will be imaged in red. A player will scratch the "YOUR LETTERS" to reveal 20 letters. Each "YOUR LET-TER" may be used in both crossword puzzles. A player matches the corresponding letters in both crossword puzzles by removing the translucent scratch-off material covering the matching letter. If four or more completed words appear across both puzzles, the player wins the corresponding prize in the prize legend. The entire word must be uncovered to win the corresponding prize. Only the highest corresponding prize can be won. The prize legend on the front of the ticket indicates prizes won for number of words revealed, as is also set forth in subsection (k) hereinafter.

If a player reveals any prize amount in the bonus area, the player wins that amount instantly. A player can win once in this game play area.

- (h) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
 - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;

TWO

02

- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS" area and be included to form a word; and
- (6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "Super Red Hot Crossword."
 - (i) Each ticket in this game may win up to two times.
- (j) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (k) The expected number and value of instant prizes in this game shall be as follows:

Game 1	Game 2	Prizes	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket		Free Ticket	100,000	\$0
\$5		\$5	12,000	60,000
\$10		\$10	11,400	114,000
,	\$10	\$10	2,000	20,000
\$5	\$5	\$10	4,000	40,000
\$20	·	\$20	5,800	116,000
	\$20	\$20	1,200	24,000
\$10	\$10	\$20	2,600	52,000
\$25		\$25	3,200	80,000
	\$25	\$25	1,200	30,000
\$10	\$15	\$25	2,000	50,000
\$50		\$50	2,800	140,000
	\$50	\$50	1,000	50,000
\$25	\$25	\$50	1,800	90,000
	\$75	\$75	200	15,000
\$50	\$25	\$75	400	30,000
\$100		\$100	1,600	160,000
	\$100	\$100	400	40,000
\$50	\$50	\$100	900	90,000
\$200		\$200	100	20,000
\$1,000		\$1,000	65	65,000
\$5,000		\$5,000	20	100,000
\$50,000		\$50,000	4	200,000
TOTAL			154,689	\$1,586,000

- (l) The odds of winning a prize in this game are approximately one in 3.88. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2331.** "Big Cash Double Play" instant ticket lottery game number 530. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Big Cash Double Play" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2331.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
\$2.00	TWO\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
15.00	FIFTEEN
$20^{.00}$	TWENTY
25.00	TWEN-FIV
$50^{.00}$	FIFTY
\$100\$	ONE-HUN
\$500\$	FIV-HUN
\$1000	ONETHOU
\$5000	FIV-THOU
\$25000	25-THOU
01	ONE

02	1 000
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRTN
14	FOURTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EIGHTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THIRTY
MAYBE NEXT TIME	
GOOD LUCK	
Symbol of a gold bar	
Symbol of a money bag	
Symbol of a stack of bills	
Symbol of a stack of coins	
0 1 1 ()	

(c) For this game, a play symbol shall appear in each of 41 play spots within the play area or areas.

Symbol of a star

- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FIV	=	\$5.00
TEN	=	\$10.00
FTN	=	\$15.00
TWY	=	\$20.00
FTY	=	\$50.00
HUN	=	\$100.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (g) "Big Cash Double Play" consists of three instant scratch games on the front of the ticket and four pull-tab games on the back of the ticket. Game 1 is a match three of six game. A player will remove the latex covering the play area to reveal six prize amounts. If the player matches three like prize amounts, the player wins that amount. A player can win one time in this play area.

Game 2 is a key number match game. A player will remove the scratch-off material to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches either of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize shown below that matched number. A player can win up to 10 times in this play area.

Game 3 is an instant win game. If a player finds any prize amount, the player wins that amount. A player can only win once in this play area.

The ticket back features four pull-tab windows. If a

player gets three identical symbols within a window, the player wins the corresponding prize shown in the prize legend. A player can win up to four times in this play area.

(h) Each ticket in this game may win up to 16 times.

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

	Game 1	Game 2	Game 3	Game 4	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$5	\$5				\$5	16,000	\$80,000
\$5		\$5			\$5	16,000	80,000
\$5		·	\$5		\$5	16,000	80,000
\$5			·	\$5	\$5	36,000	180,000
\$10	\$10				\$10	4,400	44,000
\$10		$($2 \times 5)$			\$10	4,400	44,000
\$10		· /	\$10		\$10	4,400	44,000
\$10				\$10	\$10	10,000	100,000
\$10	\$5	\$5			\$10	4,400	44,000
\$15	\$15				\$15	2,000	30,000
\$15		$(\$5 \times 3)$			\$15	2,000	30,000
\$15		· /	\$10	\$5	\$15	3,000	45,000
\$15				\$5 + \$10	\$15	4,000	60,000
\$20	\$20				\$20	2,000	40,000
\$20		$($2 \times 10)$			\$20	2,000	40,000
\$20		,	\$20		\$20	2,000	40,000
\$20				\$20	\$20	5,000	100,000
\$20				$(\$5 \times 4)$	\$20	3,600	72,000
\$50	\$25	\$5		$(\$10 \times 2)$	\$50	1,400	70,000
\$50		$(\$5 \times 6)$	\$10	(\$5 x 2)	\$50	1,700	85,000
\$50		$(\$10 \times 4)$		\$10	\$50	1,700	85,000
\$50	\$5	\$10		\$5 + \$10 + \$20	\$50	1,200	60,000
\$50	\$50				\$50	1,000	50,000
\$100	\$100				\$100	300	30,000
\$100		\$100			\$100	300	30,000
\$100		$(\$10 \times 10)$			\$100	300	30,000
\$100	\$10	(\$2 x 10)	\$50	$(\$5 \times 4)$	\$100	400	40,000
\$100		,		\$100	\$100	800	80,000
\$500	\$500				\$500	18	9,000
\$500	\$100	$($25 \times 8) + $15 + 50	\$100	\$5 + \$10 + \$20	\$500	18	9,000
\$500		$(\$50 \times 10)$			\$500	18	9,000
\$500				\$500	\$500	32	16,000
\$1,000	\$100	$(\$25 \times 8) + (\$50 \times 2)$	\$100	\$500	\$1,000	6	6,000
\$1,000	\$1,000				\$1,000	6	6,000
\$1,000		\$1,000			\$1,000	2	2,000
\$5,000		\$5,000			\$5,000	4	20,000
\$5,000	\$500	$(\$500 \times 8) + (\$25 \times 2)$	\$50	$($100 \times 4)$	\$5,000	2	10,000
\$25,000	\$5,000	(\$5,000 x 4)		•	\$25,000	2	50,000
\$25,000	•	\$25,000			\$25,000	4	100,000
TOTAL		•			•	146,412	\$1,950,000

(k) The odds of winning a prize in this game are approximately one in 4.10. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)

111-4-2332. "Hearts of Gold" instant ticket lottery game number 531. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Hearts of Gold" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-2332.

(b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THR\$
\$6.00	SIX\$
\$7.00	SEVEN
	(continued)

$14^{.00}$	FRTEEN
$20^{.00}$	TWENTY
$21^{.00}$	TWENONE
$25^{.00}$	TWENFIV
50.00	FIFTY
\$100\$	ONEHUN
\$3000	THRTHOU
Symbol of a heart	HEART
Symbol of candy	CANDY
Symbol of a card	CARD
Symbol of a rose	ROSE
Symbol of a gift	GIFT
Symbol of a kiss	KISS
Symbol of a box of chocolates	CHOCLAT
Symbol of a string of pearls	PEARLS
Symbol of some candles	CANDLES

- (c) For this game, a play symbol shall appear in each of 14 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

=	Free Ticket
=	\$1.00
=	\$2.00
=	\$3.00
=	\$6.00
=	\$14.00
=	\$21.00
=	\$50.00
=	\$100.00
=	\$300.00
	= = = = = =

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Hearts of Gold" is a symbol instant win game. If a player reveals a HEART symbol, the player wins the prize below that symbol.
 - (h) Each ticket in this game may win up to seven times.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free	Free Ticket	48,000	\$0
\$1	\$1	40,000	40,000
\$1 + \$1	\$2	18,000	36,000
\$2	\$2	16,000	32,000
\$3 (\$1 + \$2)	\$3	7,000	21,000
\$3 (\$1 x 3)	\$3	7,000	21,000
\$3	\$3	7,000	21,000
\$6 (\$3 x 2)	\$6	1,600	9,600
\$6 (\$2 x 3)	\$6	1,600	9,600
\$6 (\$1 x 6)	\$6	1,600	9,600
\$6	\$6	1,600	9,600
\$14 (\$2 x 7)	\$14	800	11,200

- \$14 (\$7 x 2) \$14 800 11,200 \$14 \$14 800 11,200 \$21 ((\$3 x 5) + \$21 7,728 368 $($3 \times 2)$ \$21 (\$3 x 7) 7,728 \$21 368 \$21 368 7,728 $$50 ($20 \times 2) +$ \$50 160 8,000 $($2 \times 5)$ \$50 (\$25 x 2) \$50 160 8,000 \$50 \$50 160 8,000 \$100 (\$25 x 4) \$100 44 4,400 \$100 \$100 44 4,400 \$300 (\$100 x 2) \$300 24 7,200 $+ ($50 \times 2)$ 24,000 \$3,000 \$3,000 8 **TOTAL** 153,504 \$330,184
- (k) The odds of winning a prize in this game are approximately one in 3.91. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2333.** "Four-Leaf Cash" instant ticket lottery game number 532. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Four-Leaf Cash" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2333.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Caption
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THR\$
\$4.00	FOUR\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$25^{.00}$	TWEN-FIV
$50^{.00}$	FIFTY
\$100\$	ONEHUN
\$250\$	TWOFTY
\$500\$	FIVEHUN
\$2500	TWYFHUN
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRTN
14	FORTN
15	FIFTN

- (c) For this game, a play symbol shall appear in each of nine play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FOR	=	\$4.00
TEN	=	\$10.00
TWF	=	\$25.00
FTY	=	\$50.00
HUN	=	\$100.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Four-Leaf Cash" is a key number match game. The player will remove the scratch-off material to reveal one "LUCKY NUMBER" and four "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If any of the "YOUR NUMBERS" match the "LUCKY NUMBER," the player wins the prize directly below that matched number.
 - (h) Each ticket in this game may win up to four times.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free	Free Ticket	45,000	\$0
\$1	\$1	26,000	26,000
\$1 + \$1	\$2	19,000	38,000
\$2	\$2	19,000	38,000
\$1 + \$1 + \$1 + \$1	\$4	7,000	28,000
\$2 + \$2	\$4	7,000	28,000
\$4	\$4	7,000	28,000
\$1 + \$2 + \$2 + \$5	\$10	1,300	13,000
\$2 + \$3 + \$5	\$10	1,300	13,000
\$5 + \$5	\$10	1,300	13,000
\$10	\$10	1,300	13,000
\$10 + \$5 + \$5 + \$5	\$25	500	12,500
\$25	\$25	500	12,500
\$25 + \$25	\$50	300	15,000
\$50	\$50	300	15,000
\$50 x 2	\$100	40	4,000
\$25 + \$25 + \$25 + \$25	\$100	40	4,000
\$100	\$100	20	2,000
\$500	\$500	8	4,000
\$250 + \$250	\$500	4	2,000
\$2,500	\$2,500	8	20,000
TOTAL		136,920	\$329,000

- (k) The odds of winning a prize in this game are approximately one in 4.38. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2334.** "Mother's Day Bonus" instant ticket lottery game number 533. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Mother's Day Bonus" commencing on or after Novem-

- ber 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2334.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
$25^{.00}$	TWENFIV
$50^{.00}$	FIFTY
\$100\$	ONE-HUN
\$500\$	FIV-HUN
\$5000	FIVTHOU

- (c) For this game, a play symbol shall appear in each of seven play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FIV	=	\$5.00
TEN	=	\$10.00
TWF	=	\$25.00
FTY	=	\$50.00
HUN	=	\$100.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Mother's Day Bonus" is a match three of six prize amounts game with a bonus spot feature. The player will remove the scratch-off material to reveal six prize amounts and one bonus prize amount. If the player matches three of the seven prize amounts, the player wins that amount.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	52,000	\$0
3 - \$1.00's	\$1	24,000	24,000
3 - \$2.00's	\$2	31,000	62,000
3 - \$5.00's	\$5	12,000	60,000
3 - \$10.00's	\$10	5,000	50,000
3 - \$15.00's	\$15	2,400	36,000
3 - \$25.00's	\$25	1,200	30,000
3 - \$50.00's	\$50	300	15,000
			(continued)

3 - \$100.00's	\$100	120	12,000
3 - \$500.00's	\$500	10	5,000
3 - \$5,000.00's	\$5,000	6	30,000
TOTAL		128,036	\$324,000

(k) The odds of winning a prize in this game are approximately one in 4.69. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)

111-4-2335. "Father's Day Bonus" instant ticket lottery game number 534. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Father's Day Bonus" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-3-1 *et seg.* and 111-4-2335.

(b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
25.00	TWENFIV
$50^{.00}$	FIFTY
\$100\$	ONE-HUN
\$500\$	FIV-HUN
\$5000	FIVTHOU

- (c) For this game, a play symbol shall appear in each of seven play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FIV	=	\$5.00
TEN	=	\$10.00
FTN	=	\$15.00
TWF	=	\$25.00
FTY	=	\$50.00
HUN	=	\$100.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Father's Day Bonus" is a match three of six prize amounts game with a bonus spot feature. The player will remove the scratch-off material to reveal six prize amounts and one bonus prize amount. If the player matches three of the seven prize amounts, the player wins that amount.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes

per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	52,000	\$0
3 - \$1.00's	\$1	24,000	24,000
3 - \$2.00's	\$2	31,000	62,000
3 - \$5.00's	\$5	12,000	60,000
3 - \$10.00's	\$10	5,000	50,000
3 - \$15.00's	\$15	2,400	36,000
3 - \$25.00's	\$25	1,200	30,000
3 - \$50.00's	\$50	300	15,000
3 - \$100.00's	\$100	120	12,000
3 - \$500.00's	\$500	10	5,000
3 - \$5,000.00's	\$5,000	6	30,000
TOTAL		128,036	\$324,000

(k) The odds of winning a prize in this game are approximately one in 4.69. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)

MADE IN KANSAS DRAWING

111-4-2336. Name of drawing. The Kansas lottery shall conduct two drawings, each entitled "Made In Kansas Drawing," and will accept entries on and after the day Kansas lottery "Made In Kansas" instant tickets are first offered for sale to the general public and ending on the dates specified in K.A.R. 111-4-2341. The drawings will be held on December 16, 2005, and March 24, 2006. Rules applicable to the "Made In Kansas Drawing" are contained in K.A.R. 111-4-2336 through 111-4-2341 and K.A.R. 111-3-1, *et seq.* (Authorized by and implementing K.S.A. 74-8710; effective, T-111-11-21-05, Oct. 12, 2005.)

111-4-2337. Definitions. (a) All definitions contained in the Kansas lottery act (K.S.A. 74-8701 *et seq.*) and lottery regulations are hereby incorporated by reference and govern unless otherwise indicated.

(b) "Made In Kansas Drawing" means the act of drawing prizes conducted by the Kansas Lottery on the dates described in K.A.R. 111-4-2339, in which participants are selected to win prizes as described in K.A.R. 111-4-2338.

(c) "Non-winning ticket" means any valid Kansas "Made In Kansas" instant game lottery ticket not eligible to win a prize under the rules of the "Made In Kansas" instant game.

(d) "Receptacle" or "drum" means a container in which non-winning Kansas instant game lottery tickets are placed and from which the "Made In Kansas Drawing" entries are drawn. Receptacles or drums may be sealable and shall be capable of being mixed or rotated for the purpose of ensuring random distribution.

(e) "Bare arm technique" means a type of drawing where the person drawing the winning ticket from the receptacle or drum wears a long-sleeved shirt with sleeve rolled up above the elbow, a short-sleeved shirt (sleeve not extending past the elbow) or a no-sleeve shirt which exposes the drawer's bare arm and looks away from the drawing drum or receptacle while drawing. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-11-21-05, Oct. 12, 2005.)

- **111-4-2338. Prize.** (a) The first winner drawn in the "Made In Kansas Drawing," shall receive his or her choice of a 2006 Chevrolet Malibu LTZ or a 2006 Chevrolet Malibu MAXX, together with mandatory federal and state income withholding taxes, property taxes, registration fee, title fee, and cash.
- (b) The second winner drawn shall receive the remaining of the two vehicles, together with mandatory federal and state income withholding taxes, property taxes, registration fee, title fee, and cash.
- (c) All prizes are subject to lottery validation, set-offs and deductions authorized by law.
- (d) The winner of a prize shall return to the lottery a completed claim form as provided by the lottery no later than 5:00 p.m. on the thirtieth day following the day of the drawing or the person named on the ticket drawn will no longer be eligible for the prize. In such an event, the first eligible alternate entry drawn for that prize pursuant to subsection (e) of K.A.R. 111-4-2340 shall be declared the winner. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2339. Method of entry.** (a) Entry into the "Made In Kansas Drawing" shall be accomplished as follows:
- (1) Obtain a valid "Made In Kansas" Kansas instant lottery ticket.
- (2) Determine if the ticket is a winning ticket in accordance with "Made In Kansas" game rules. If the ticket is a winning ticket, it is not eligible for the "Made In Kansas Drawing" and shall be redeemed in accordance with the instant game rules.
- (3) If the ticket is a valid non-winning ticket, the ticket is eligible for the drawing and the holder of the ticket may use it to enter the "Made In Kansas Drawing."
- (4) The holder of the non-winning ticket must complete the information form on the back of the ticket in a legible manner. Only one name shall appear on a non-winning ticket entered.
- (5) Players may deposit entries for the "Made In Kansas Drawing" at any Kansas lottery event at which the lottery has specifically designated a receptacle for deposit of said entries
- (6) Entries other than those entered pursuant to subsection (a)(5) herein shall be mailed with proper postage to "Made In Kansas Drawing," c/o Kansas lottery, P. O. Box 5596, Topeka, Kansas 66605-0596. Mailed entries must be received by morning mail pickup on Tuesday, December 13, 2005, for the first drawing, and by Tuesday, March 21, 2006, for the second drawing. More than one entry may be mailed in one envelope.
- (7) The holder of the ticket is not required to personally attend the "Made In Kansas Drawing" or be present at the time of the drawing to be determined a winner.
- (8) The first drawing will be conducted by the lottery on December 16, 2005, and the second drawing will be conducted by the lottery on March 24, 2006.
- (b) There is no limit on the number of entries a person may make, but a person may only win one time total in the two drawings. Entries in the first drawing are not eligible for the second drawing and will be destroyed following the first drawing.

- (c) Only valid non-winning "Made In Kansas" tickets which are mailed to the "Made In Kansas Drawing," c/o Kansas lottery, P. O. Box 5596, Topeka, Kansas 66605-0596 with proper postage and received by the morning mail pickup in Topeka, Kansas, on Tuesday, December 13, 2005, for the first drawing and Tuesday, March 21, 2006, for the second drawing, and non-winning "Made In Kansas" tickets entered into any other receptacle designated by the lottery as provided in the rules herein shall be eligible for the drawing. All tickets so mailed or deposited shall be secured by the lottery until the drawing is conducted.
- (d) Eligible entrants in the "Made In Kansas Drawing" must be 18 years of age or older.
- (e) Completing the information form on the non-winning ticket and entering the ticket into the drawing constitutes authorization to identify publicly the person whose entry is drawn. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2340. Selection of winners.** The following process shall be used for the selection of winners in the "Made In Kansas Drawing:"
- (a) Kansas lottery personnel shall pick up all mail containing "Made In Kansas Drawing" tickets at the United States Post Office in Topeka, Kansas, with the final pick-up at the Topeka post office in the morning mail pickup on Tuesday, December 13, 2005, for the first drawing and Tuesday, March 21, 2006, for the second drawing. Following each final mail pickup, the envelopes containing mailed entries will be transported to lottery headquarters and opened by lottery personnel. All mailed entries shall then be placed in the drawing receptacle or drum with all entries deposited at any other receptacle designated by the lottery.
- (b) The drawing shall be held at the Kansas lottery headquarters and shall be open to the public with lottery security personnel present. The drawing shall be audio and video taped.
- (c) At each drawing, lottery security personnel will be present with the person designated by the executive director to perform the drawing. Prior to each drawing, if a drum is used, the drum shall be sealed and the contents mixed by rotating the drum at least 10 times. If a receptacle other than a drum is used, the contents shall be thoroughly mixed with a shovel or by other means.
- (d) At each drawing, the designated individual shall then unseal the drum, if a drum is used, and using the bare-arm technique, while looking away, remove a single entry from the receptacle or drum. The person whose name appears on the entry shall be the winner of one of the grand prizes identified in K.A.R. 111-4-2338, subject to validation by the lottery as set forth in these rules. The first winner drawn shall have his or her choice of the two vehicles. This process shall be repeated for the second drawing except that the winner of said drawing shall receive the remaining vehicle.
- (e) After an entry has been drawn at each drawing and verified as valid, two more valid entries will be drawn, one at a time to serve as alternate entries for the prize. The alternate entries will be marked in order drawn, 1A,

- 2A, and 3A. Each winner shall have until 5:00 p.m. on the thirtieth day following the drawing to present the fully-executed claim form to lottery headquarters. If a grand prize winner cannot be located or is declared ineligible, or fails to timely present a fully-executed claim form to lottery headquarters, the grand prize will be awarded to the first alternate entry drawn. The alternates will be used, if necessary, in the order drawn.
- (f) The Kansas lottery security official present shall review each ticket drawn to determine the validity of the entry into the "Made In Kansas Drawing" in accordance with these regulations. If it is a valid entry and the name is legible, the event manager and the security person present shall record the name of the winner and the prize won. The prize winners shall be given or sent a prize claim form to be completed and returned as set forth in subsection (e) herein.
- (g) If any entry drawn is determined to be ineligible, it shall be discarded by the security person present and another entry drawn. This procedure will be repeated until the required number of apparently eligible selections is obtained.
- (h) Only non-winning "Made In Kansas" instant tickets are eligible for the drawing.
- (i) All "Made In Kansas" tickets remaining in the drum or receptacle after the winners and alternatives have been selected in each drawing, and all entries not received in compliance with these rules, shall be destroyed pursuant to K.A.R. 111-3-34. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-4-2341.** Certification of drawing. (a) Each "Made In Kansas Drawing" drawing shall be personally observed by a member of the Kansas lottery security department and a member of the Kansas lottery marketing department or other person or persons designated by the executive director of the lottery.
- (b) Upon completion of each drawing, the security official and the event manager shall issue a report to the executive director, certifying that the name of each prize winner is correct, and that to the best of their knowledge the procedures required by these rules were followed in selecting the prize winners. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-11-21-05, Oct. 12, 2005.)

Article 9.—PULL-TAB GAMES

- **111-9-127.** "Bank Shot" pull tab ticket lottery game number 526. (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Bank Shot" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-127.
- (b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.
- (c) Approximately 1,200,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 100 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 099. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
 - (d) The play symbols for this game are as follows:

- Symbol of a pool shark Symbol of a pool table Symbol of a pool chalk cube Symbol of a pool rack Symbol of a number "8" ball Symbol of a pool bridge
- (e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination.
- (f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (h) below. All winning combinations shall be within a single window in a horizontal line.
- (g) The three letters comprising the retailer validation codes used in this game shall appear in three of 12 varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

ONE	=	\$1.00
FIV	=	\$5.00
SIX	=	\$6.00
TEN	=	\$10.00
FTN	=	\$15.00
TWF	=	\$25.00
THF	=	\$35.00
HUN	=	\$100.00

(h) The number and value of prizes in this game and winning combinations shall be as follows:

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
3 - bridges (\$1)	\$1	220,000	\$220,000
3 - "8" balls (\$5)	\$5	40,000	200,000
3 - bridges (\$1) + 3 - "8" balls (\$5)	\$6	24,000	144,000
3 - racks (\$10)	\$10	6,000	60,000
3 - "8" balls (\$5) + 3 - racks (\$10)	\$15	3,200	48,000
3 - chalk cubes (\$25)	\$25	1,740	43,500
3 - racks (\$10) + 3 - chalk cubes (\$25)	\$35	1,100	38,500
3 - pool tables (\$100)	\$100	420	42,000
3 - pool sharks (\$1,000)	\$1,000	20	20,000
TOTAL		296,480	\$816,000

- (i) Each ticket in this game may have two winning combinations.
- (j) The overall odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-9-128.** "Pot of Gold" pull tab ticket lottery game number 527. (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Pot of Gold" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-128.
- (b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.
- (c) Approximately 1,200,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 100 tickets each. The ticket numbers in each pack

in this game shall start with 000 and end with 099. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

Symbol of a coin

Symbol of a dollar sign

Symbol of a gold bar

Symbol of a rainbow

Symbol of a vault

Symbol of a pot of gold

- (e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination.
- (f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (h) below. All winning combinations shall be within a single window in a horizontal line.
- (g) The three letters comprising the retailer validation codes used in this game shall appear in three of 12 varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

ONE	=	\$1.00
FIV	=	\$5.00
TEN	=	\$10.00
TWF	=	\$25.00
HUN	=	\$100.00

(h) The number and value of prizes in this game and winning combinations shall be as follows:

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
3 - coins	\$1	240,000	\$240,000
3 - dollar signs	\$5	57,400	287,000
3 - gold bars	\$10	13,600	136,000
3 - rainbows	\$25	3,000	75,000
3 - vaults	\$100	580	58,000
3 - pots of gold	\$1,000	20	20,000
TOTAL		<u>314,600</u>	\$816,000

- (i) Each ticket in this game may have only one winning combination.
- (j) The overall odds of winning a prize in this game are approximately one in 3.81. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)
- **111-9-129.** "Cash Jackpots" pull tab ticket lottery game number 528. (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Cash Jackpots" commencing on or after November 1, 2005. The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-129.
- (b) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.
- (c) Approximately 600,000 tickets shall be ordered initially for this pull tab game which shall be packaged in

packs of 50 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 049. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

Symbol of a piggy bank Symbol of a coin Symbol of a dollar sign Symbol of a money bag Symbol of a dollar bill Symbol of a stack of coins

Symbol of a bankroll

Symbol of a pot of gold

- (e) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three piggy banks equal \$2.00; three coin symbols equal \$5.00; three dollar symbols equal \$10.00; three money bags equal \$25.00; three dollar bill symbols equal \$50.00; three stacks of coins equal \$100.00; three bankroll symbols equal \$250.00; and three pots of gold equal \$2,500.00.
- (f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (h) below. All winning combinations shall be within a single window in a horizontal line.
- (g) The three letters comprising the retailer validation codes used in this game shall appear in three of 12 varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TWO	=	\$2.00
FOR	=	\$4.00
FIV	=	\$5.00
SEV	=	\$7.00
TEN	=	\$10.00
TWF	=	\$25.00
FTY	=	\$50.00
HUN	=	\$100.00
THY	=	\$250.00

(h) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$2	\$2	82,000	\$164,000
\$2 + \$2	\$4	28,120	112,480
\$5	\$5	26,000	130,000
\$5 + \$2	\$7	16,000	112,000
\$10	\$10	5,100	51,000
\$5 + \$5	\$10	5,000	50,000
\$25	\$25	1,800	45,000
\$5 + \$10 + \$10	\$25	1,800	45,000
\$5 + \$5 + \$5 + \$10	\$25	1,650	41,250
\$50	\$50	400	20,000
\$100	\$100	100	10,000
			(continued)

\$250	\$250	40	10,000
\$2,500	\$2,500	10	25,000
TOTAL		168,020	\$815,730

- (i) Each ticket in this game may have up to four winning combinations.
- (j) The overall odds of winning a prize in this game are approximately one in 3.57. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-11-21-05, Oct. 12, 2005.)

Article 14.—ELECTRONIC GAME CARD GAMES

- 111-14-1. "Super 7's" electronic card lottery game number 1. (a) The lottery shall conduct an electronic card lottery game entitled "Super 7's" commencing on or after October 5, 2005. The rules for this game are contained in K.A.R. 111-13-1 et seq. and 111-14-1.
- (b) The plays symbols for this game are 1, 2, 3, 4, 5, and
- (c) For this game, a play symbol shall appear in each of three liquid crystal display windows on the face of the electronic card.
- (d) The card numbers in each pack of cards in this game shall start with 000 and end with 014.
- (e) The price of cards sold by a retailer for this game shall be \$20.00 each.
- (f) "Super 7's" is a symbol matching game whereby a player accumulates points, each point having a prize value of 25 cents. A player will activate the electronic card by removing a tab. A player may repeatedly press the "PLAY" button, which will cause a play symbol to appear in each of the three windows on the card. Each card contains a total of 80 plays with three symbols each.
- (g) Points awarded on the card shall accumulate until such time as all 80 plays have been made. Points shall be awarded based on the following combination of play symbols in a single play:

Three "7" symbols	1,000 points
Three "5" symbols	200 points
Three "4" symbols	100 points
Three "3" symbols	20 points
Three "2" symbols	10 points
Three "1" symbols	5 points
Any two "7" symbols	2 points
Any one "7" symbol	1 point

- (h) Each card in this game may only win one time.
- (i) Approximately 120,000 cards shall be ordered initially for this game. Additional card orders shall have the same prize structure, the same number of prizes per pool of 60,000 cards, and the same odds as were contained in the initial order.
- (j) The expected number and value of prizes in this game shall be as follows:

	Expected Number	Expected
Prize	of Prizes in Game	Value in Game
\$3.00	24,000	\$72,000
\$5.00	24,000	120,000
\$5.00	16,000	80,000
\$7.00	24,000	168,000
\$10.00	8,000	80,000
\$20.00	8,000	160,000
\$40.00	8,000	320,000
\$60.00	7,220	433,200
\$100.00	480	48,000
\$500.00	300	150,000
	120,000	\$1,631,200

(k) The overall odds of winning any prize in this game are one in 1.00. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-9-20-05, Sept. 12, 2005; amended, T-111-11-21-05, Oct. 12, 2005.)

1-9-19a 1-9-20

Ed Van Petten **Executive Director**

> V. 24, p. 861 V. 24, p. 861 V. 24, p. 862 V. 24, p. 863 V. 24, p. 863 V. 24, p. 863

V. 24, p. 863 V. 24, p. 865 V. 24, p. 865

V. 24, p. 866 V. 24, p. 866

V. 24, p. 868

Doc. No. 032640

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2003 Volumes and 2005 Supplement of the Kansas Administrative Regulations.

AGENCY 1: DEPARTMENT OF

	1-6-29		
Reg. No.	Action	Register	1-6-32 1-7-3
1-1-1	Amended	V. 24, p. 848	1-7-10
1-2-9	Amended	V. 24, p. 849	1-7-11
1-2-25	Amended	V. 24, p. 849	1-7-12
1-2-25a	New	V. 24, p. 849	1-8-2
1-2-30	Revoked	V. 24, p. 849	1-8-3
1-2-31	Amended	V. 24, p. 849	1-8-4
1-2-43a	New	V. 24, p. 849	1-8-5
1-2-44	Amended	V. 24, p. 849	1-8-6
1-2-46	Amended	V. 24, p. 849	1-9-1
1-2-74	Amended	V. 24, p. 850	1-9-2
1-2-84a	Revoked	V. 24, p. 850	1-9-4
1-2-84b	Revoked	V. 24, p. 850	1-9-13

Amended

Revoked

Amended

Amended

1-3-2

1. = 1, p. 000	
V. 24, p. 850	
V. 24, p. 850	
V. 24, p. 851	
V. 24, p. 851	
V. 24, p. 852	
V. 24, p. 852	
V. 24, p. 852	
V. 24, p. 853	
V. 24, p. 853	
V. 24, p. 853	
V. 24, p. 855	
V. 24, p. 855	
V. 24, p. 855	
V. 24, p. 856	
V. 24, p. 856	
V. 24, p. 857	
V. 24, p. 858	
V. 24, p. 858	
V. 24, p. 858	
V. 24, p. 859	

V. 24, p. 860

V. 24, p. 860

V. 24, p. 860 V. 24, p. 860

V. 23, p. 718

V. 24, p. 861

V. 24, p. 850

V. 24, p. 850 V. 24, p. 850

24, p. 850

1-10-6	Revoked	V. 24
1-10-7	Revoked	V. 24
1-10-10	Revoked	V. 24
1-10-11	Revoked	V. 24
1-11-1	Amended	V. 24
1-11-3	Revoked	V. 24
1-12-1	Amended	V. 24
1-12-2	Amended	V. 24
1-13-1a	Amended	V. 24
1-13-1b	New	V. 24
1-14-8	Amended	V. 24
1-14-11	Amended	V. 24
A	GENCY 4: DEPAI AGRICULT	
Reg. No.	Action	Regi
4-8-14a	Amended (T)	V. 24
4-8-27	Amended (T)	V. 24
4-8-34	Amended (T)	V. 24

Amended

Amended

Amended

Amended

Amended

AGRICULTURE						
Reg. No.	Action	Register				
4-8-14a	Amended (T)	V. 24, p. 958				
4-8-27	Amended (T)	V. 24, p. 958 V. 24, p. 958				
4-8-34	Amended (T)	V. 24, p. 958				
4-15-7	Amended	V. 24, p. 550				
4-15-8	Amended	V. 24, p. 550				
4-28-1		•				
through						

4-28-7	New	V. 24, p. 145, 146
AGE	NCY 7: SECI	RETARY OF STATE
Reg. No.	Action	Register
7-34-2	New (T)	V. 24, p. 42
7-34-2	New	V. 24, p. 332

Revoked

Amended

Amended

Amended

Amended

Amended

	U		r	kansas K	egister			
7-41-1	Amended	V. 24, p. 1244	28-36-60	Revoked	V. 24, p. 146	66-14-3	Amended	V. 24, p. 80
7-41-14		•	28-36-120	Revoked	V. 24, p. 146	66-14-5	Amended	V. 24, p. 81
through 7-41-33	New	V 24 p 1245 1249	28-61-1 28-70-1	Amended Amended	V. 24, p. 1242	AGEN	ICY 68: BOARD (OF PHARMACY
7-41-33 7-42-1	New	V. 24, p. 1245-1249	28-70-1	Amended	V. 24, p. 1177 V. 24, p. 1177	Reg. No.	Action	Register
through			28-70-3	Amended	V. 24, p. 1178	· ·		· ·
7-42-5	New	V. 24, p. 1469, 1470		AGENCY 30: SC	•	68-5-16	New (T)	V. 24, p. 1377
A	GENCY 9: ANIM	IAL HEALTH		EHABILITATIO		AGENC	Y 69: BOARD OF	COSMETOLOGY
	DEPARTM		Reg. No.	Action	Register	Reg. No.	Action	Register
Reg. No.	Action	Register			•	69-1-4	Amended (T)	V. 24, p. 14
9-2-32	Amended (T)	V. 24, p. 272	30-5-64 30-5-81u	Revoked Amended	V. 24, p. 1595 V. 24, p. 271	69-1-4	Amended	V. 24, p. 392
9-2-32	Amended	V. 24, p. 272 V. 24, p. 919	30-10-1a	Amended	V. 24, p. 489	ACENO	~V 71. KANSAS I	DENTAL BOARD
9-11-10	Amended (T)	V. 24, p. 272	30-10-1b	Amended	V. 24, p. 491			
9-11-10	Amended	V. 24, p. 919	30-10-1d	Amended	V. 24, p. 492	Reg. No.	Action	Register
9-18-1	Amended (T)	V. 24, p. 1144	30-10-11	Amended	V. 24, p. 492	71-2-2	Amended	V. 24, p. 338
9-18-1	Amended	V. 24, p. 1372	30-10-17 30-10-18	Amended Amended (T)	V. 24, p. 494 V. 24, p. 23	AGENC	Y 74: BOARD OF	ACCOUNTANCY
AC	GENCY 10: KAN		30-10-18	Amended	V. 24, p. 334	Reg. No.	Action	Register
	OF INVESTIG	GATION	30-10-19	Amended	V. 24, p. 495	· ·		
Reg. No.	Action	Register	30-10-20	Amended	V. 24, p. 496	74-4-1a 74-4-8	Amended	V. 24, p. 794
10-22-1	Amended	V. 24, p. 962	30-10-23a	Amended	V. 24, p. 496	74-4-6 74-5-2	Amended Amended	V. 24, p. 794 V. 24, p. 795
AGEN	ICY 11: STATE C	CONSERVATION	30-10-23b	Amended	V. 24, p. 497	74-5-101	Amended	V. 24, p. 795
	COMMISS		AC	GENCY 36: DEPA		74-5-102	Amended	V. 24, p. 796
Reg. No.	Action	Register		TRANSPORT	TATION	74-5-103	Amended	V. 24, p. 796
_	riction	Register	Reg. No.	Action	Register	74-5-104	Amended	V. 24, p. 796
11-11-1 through			36-41-1			74-5-201	Amended	V. 24, p. 796
11-11-7	New	V. 24, p. 242-244	through			74-5-202	Amended	V. 24, p. 796
		ENT OF REVENUE	36-41-5	New (T)	V. 24, p. 273, 274	74-5-203 74-5-205	Amended Revoked	V. 24, p. 797 V. 24, p. 797
			36-41-1			74-5-301	Amended	V. 24, p. 797 V. 24, p. 797
Reg. No.	Action	Register	through 36-41-5	New	V. 24, p. 1111, 1112	74-5-401	Amended	V. 24, p. 797
14-14-12	Revoked	V. 24, p. 798				74-5-403	Amended	V. 24, p. 797
AGE	NCY 16: ATTOR	NEY GENERAL	AGE	NCY 40: KANSA DEPARTN	AS INSURANCE	74-11-6	Amended	V. 24, p. 797
Reg. No.	Action	Register				74-11-15	Amended	V. 24, p. 798
16-1-7		•	Reg. No.	Action	Register	Α	GENCY 81: OFFI	CE OF THE
16-1-7	Amended New	V. 24, p. 95 V. 24, p. 95	40-1-42	Amended	V. 24, p. 1734	SE	CURITIES COM	MISSIONER
16-4-3	New	V. 24, p. 95	40-1-44	Amended	V. 24, p. 848	Reg. No.	Action	Register
16-4-4	New	V. 24, p. 96	40-1-51 40-2-14a	Amended Amended	V. 24, p. 1735 V. 24, p. 1735	81-4-4	New (T)	
16-6-1	Amended	V. 24, p. 96	40-2-14b	Revoked	V. 24, p. 1735	81-4-4	New (1)	V. 24, p. 1372 V. 24, p. 1775
16-10-1	New (T)	V. 24, p. 1176	40-3-13	Amended	V. 24, p. 1371	81-5-15	New (T)	V. 24, p. 1773 V. 24, p. 1372
16-10-2 16-10-3	New (T) New (T)	V. 24, p. 1176 V. 24, p. 1176	40-3-18	Amended	V. 24, p. 1371	81-5-15	New	V. 24, p. 1775
16-10-1	New	V. 24, p. 1690	40-3-24	Amended	V. 24, p. 1371	AGEN	NCY 82: STATE C	•
16-10-2	New	V. 24, p. 1690	40-3-50 40-3-53	Revoked New (T)	V. 24, p. 848 V. 24, p. 15	AGL	COMMISS	
16-10-3	New	V. 24, p. 1691	40-3-53	New	V. 24, p. 615	D N		
AGENO	CY 26: DEPARTN	MENT ON AGING	40-4-35	Amended	V. 24, p. 1264	Reg. No.	Action	Register
Reg. No.	Action	Register	40-7-22	Amended	V. 24, p. 1371	82-4-3	Amended (T)	V. 24, p. 97
26-39-144	New	•	40-7-23	Amended	V. 24, p. 1371	82-4-3	Amended	V. 24, p. 463
26-39-144	New	V. 24, p. 1629 V. 24, p. 1631	AGENC	Y 51: DEPARTM	MENT OF LABOR—	82-4-3a through		
26-39-278	New	V. 24, p. 1632	DIVISIO	N OF WORKER	S COMPENSATION	82-4-3m	New (T)	V. 24, p. 97-122
26-39-427	New	V. 24, p. 1632	Reg. No.	Action	Register	82-4-3a	- 1011 (-)	
26-39-438			•	Amended	V. 24, p. 1647	through		
through	N.T.	37.04. 1040	51-9-7	Amended	V. 24, p. 1734	82-4-3m	New	V. 24, p. 463-488
26-39-441	New	V. 24, p. 1243	51-9-17	Amended	V. 24, p. 959	82-4-3a	Amended (T)	V. 24, p. 1687
AGENO		MENT OF HEALTH	AGE	NCY 60: BOARI	O OF NURSING	AGENC	Y 86: REAL ESTA	TE COMMISSION
	AND ENVIRO	DNMENT	Reg. No.	Action	Register	Reg. No.	Action	Register
Reg. No.	Action	Register	•		•	86-3-29	New (T)	V. 24, p. 959
28-4-1400	New (T)	V. 24, p. 1142	60-3-106a 60-3-107	Amended Amended	V. 24, p. 1145 V. 24, p. 1145	86-3-29	New (1)	V. 24, p. 1690
28-4-1400	New	V. 24, p. 1531	60-3-108	Amended	V. 24, p. 1145 V. 24, p. 1145			-
28-16-28g	Amended	V. 24, p. 753	60-3-112	Amended	V. 24, p. 1145	AC	GENCY 91: DEPAI EDUCATI	
28-16-58	Amended	V. 24, p. 52	60-11-13	Amended	V. 24, p. 1145			ON
28-16-160 through			60-11-120	Amended	V. 24, p. 1145	Reg. No.	Action	Register
28-16-174	New	V. 24, p. 754-764	60-11-121	Amended	V. 24, p. 1145	91-1-203	Amended	V. 24, p. 1178
28-17-1	Amended	V. 24, p. 178	60-13-112 60-15-101	Amended Amended	V. 24, p. 1146 V. 24, p. 1146	91-1-213	Revoked	V. 24, p. 1181
28-17-6	Amended	V. 24, p. 179	60-15-104	Amended	V. 24, p. 1140 V. 24, p. 1147	91-1-220	New	V. 24, p. 1181
28-17-20	Amended	V. 24, p. 179	60-16-103	Amended	V. 24, p. 1147	91-1-221	New	V. 24, p. 1182
28-17-22 28-19-22	New	V. 24, p. 181	60-16-104	Amended	V. 24, p. 1148	91-15-1	Amended	V. 24, p. 272
28-19-22	Revoked Amended	V. 24, p. 1437 V. 24, p. 1437	60-17-111	Amended	V. 24, p. 1149	91-35-1 through		
28-19-542	Amended	v. 24, p. 1438	AGENCY	63: BOARD OF	MORTUARY ARTS	91-35-4	Revoked	V. 24, p. 272
28-19-546	Amended	V. 24, p. 1438	Reg. No.	Action	Register			•
28-19-561	Amended	V. 24, p. 1438	_		· ·	AGENC	1 92: DEPARTME	ENT OF REVENUE
28-19-562	Amended	v. 24, p. 1439	63-4-1	Amended	V. 24, p. 1629	Reg. No.	Action	Register
28-19-563	Amended	v. 24, p. 1440	AGEN		OF TECHNICAL	92-12-113	New	V. 24, p. 423
28-19-575 through				PROFESS	IONS	92-19-49a	Revoked	V. 24, p. 798
28-19-578	Revoked	V. 24, p. 1440	Reg. No.	Action	Register	92-19-49b	New	V. 24, p. 798
28-30-200		, p. 1110	66-6-4	Amended	V. 24, p. 79	92-19-49c	New	V. 24, p. 799
through			66-8-8	New	V. 24, p. 80	92-19-49d	New	V. 24, p. 801
28-30-207	New	V. 24, p. 1470-1474	66-9-6	Amended	V. 24, p. 80	92-19-81	Amended	V. 24, p. 802
28-36-1 28-36-32	Revoked	V. 24, p. 146	66-9-7 66-10-14	New	V. 24, p. 80	92-51-34a	Amended	V. 24, p. 423 (continued)
20-30-32	Revoked	V. 24, p. 146	66-10-14	New	V. 24, p. 80			(continued)

	ENCY 99: DEPA	RTMENT OF ON OF WEIGHTS			NSAS LOTTERY	111-4-2206 through		
nomee	AND MEAS				all regulations filed by 988 through 2000 can be	111-4-2213	New	V. 24, p. 15-22
Reg. No.	Action	Register	found in the Vol. 19 No. 52 December 28 2000			111-4-2214		
99-25-1	Amended	V. 24, p. 1264			regulations filed by the	through 111-4-2227	New	V 24 n 199-207
99-25-9	Amended	V. 24, p. 1264 V. 24, p. 1265	Kansas Lot	tery from 2001	through 2003 can be	111-4-2228	INEW	V. 24, p. 199-207
99-25-10	New	V. 24, p. 1265			52, December 25, 2003	through		
	/ 100· BOARD O	F HEALING ARTS			owing regulations were	111-4-2235	New	V. 24, p. 297-300
			filed after Ja	anuary 1, 2004:		111-4-2228	Amended	V. 24, p. 1115
Reg. No.	Action	Register	Reg. No.	Action	Register	111-4-2236		
100-15-2	Revoked	V. 24, p. 1113	111-2-151			through	Now	V 24 n 422 425
100-15-4			through			111-4-2241 111-4-2242	New New	V. 24, p. 432-435 V. 24, p. 461
through 100-15-7	New	V. 24, p. 1113, 1114	111-2-156	New	V. 23, p. 95, 96	111-4-2243	New	V. 24, p. 462
100-15-7	INCW	v. 24, p. 1113, 1114	111-2-154	Amended	V. 23, p. 261	111-4-2244		7.1
through			111-2-155	Amended	V. 23, p. 262	through		
100-25-5	New (T)	V. 24, p. 1373-1376	111-2-156	Amended	V. 23, p. 262	111-4-2258	New	V. 24, p. 920-925
100-26-1	Amended (T)	V. 24, p. 1376	111-2-157 111-2-158	New New	V. 23, p. 262 V. 23, p. 459	111-4-2246	Amended	V. 24, p. 1028
100-26-2	New (T)	V. 24, p. 1376	111-2-159	New	V. 23, p. 901	111-4-2255 111-4-2259	Amended	V. 24, p. 1029
100-26-3	New (T)	V. 24, p. 1376	111-2-160	New	V. 23, p. 1655	through		
100-28a-14 100-28a-17	Amended New	V. 24, p. 1114	111-2-161	New	V. 23, p. 1655	111-4-2283	New	V. 24, p. 1029-1046
100-28a-17	New	V. 24, p. 1114 V. 24, p. 1115	111-2-162	New	V. 23, p. 1655	111-4-2284		· 1
100-54-1	Amended	V. 24, p. 1113 V. 24, p. 1441	111-2-163	New	V. 24, p. 15	through		
100-54-6	Amended	V. 24, p. 1441	111-2-164	New	V. 24, p. 199	111-4-2292	New	V. 24, p. 1116-1119
100-54-8	Amended	V. 24, p. 1441	111-2-165 111-2-166	New New	V. 24, p. 296	111-4-2293		
100-54-10	New	V. 24, p. 1442	111-2-167	New	V. 24, p. 296	through 111-4-2306	New	V. 24, p. 1266-1275
100-54-11	New	V. 24, p. 1442	through			111-4-2307	INCW	v. 24, p. 1200-1273
100-69-1	Amended	V. 24, p. 1346	111-2-172	New	V. 24, p. 430, 431	through		
100-69-2 100-69-3	Amended	V. 24, p. 1347	111-2-173	New	V. 24, p. 460	111-4-2317	New	V. 24, p. 1497-1506
100-69-4	Amended Revoked	V. 24, p. 1347 V. 24, p. 1347	111-2-174	New	V. 24, p. 460	111-4-2318		•
100-69-6	Amended	V. 24, p. 1347 V. 24, p. 1347	111-2-175	New	V. 24, p. 919	through		** ** *****
100-69-7	Amended	V. 24, p. 1347	111-2-176	New	V. 24, p. 919	111-4-2325	New	V. 24, p. 1600-1606
100-69-8	Revoked	V. 24, p. 1347	111-2-177 111-2-178	New New	V. 24, p. 1265	111-5-23		
100-69-9	Amended	V. 24, p. 1347	111-2-179	New	V. 24, p. 1265	through 111-5-28	Amended	V. 24, p. 1276-1278
100-69-10	Amended	V. 24, p. 1348	through			111-5-96	Amended	V. 23, p. 101
100-69-11	Amended	V. 24, p. 1349	111-2-183	New	V. 24, p. 1496, 1497	111-5-111		, ,
100-72-6 100-73-1	Amended	V. 24, p. 1115	111-2-182	Amended	Ŷ. 24, p. 1598	through		
through			111-2-184	New	V. 24, p. 1598	111-5-115	New	V. 23, p. 245, 246
100-73-6	New (T)	V. 24, p. 1142-1144	111-2-185	New	V. 24, p. 1599	111-5-113	Amended	V. 23, p. 472
100-73-1	()	, ,	111-2-186 111-3-13	New Amended	V. 24, p. 1599	111-5-114 111-5-116	Amended	V. 23, p. 472
through			111-3-13	Amended	V. 23, p. 1433 V. 23, p. 97	through		
100-73-6	New	V. 24, p. 1443, 1444	111-4-881	Amended	V. 23, p. 97	111-5-120	New	V. 24, p. 208, 209
AGENO	CY 102: BEHAVIO	DRAL SCIENCES	111-4-1448	Amended	V. 23, p. 98	111-5-121		•
	REGULATORY	BOARD	111-4-2052	Amended	V. 23, p. 262	through		*****
Reg. No.	Action	Register	111-4-2055	Amended	V. 23, p. 263	111-5-125	New	V. 24, p. 1507, 1508
102-1-13	Amended	V. 24, p. 424	111-4-2057	Amended	V. 23, p. 263	111-6-1 111-6-7	Amended Amended	V. 23, p. 1439 V. 24, p. 1606
102-1-18	Amended	V. 24, p. 424 V. 24, p. 424	111-4-2074 111-4-2093	Amended Amended	V. 23, p. 98 V. 23, p. 309	111-6-26	New	V. 24, p. 23
102-2-3	Amended	V. 24, p. 424	111-4-2094	New	V. 23, p. 309 V. 23, p. 100	111-7-188	11011	
102-2-8	Amended	V. 24, p. 424	111-4-2095	11011	7. 25, p. 100	through		
102-2-12	Amended	V. 24, p. 426	through			111-7-192	New	V. 23, p. 319, 320
102-2-14	Amended	V. 24, p. 427	111-4-2115	New	V. 23, p. 264-275	111-7-190	Amended	V. 23, p. 473
102-3-2	Amended	V. 24, p. 428	111-4-2097	Amended	V. 23, p. 310	111-7-192	Amended	V. 23, p. 473
102-3-3a 102-3-4a	Amended (T) Amended	V. 24, p. 330 V. 24, p. 1211	111-4-2098	Amended	V. 23, p. 310	111-7-193 through		
102-3-44	Amended	V. 24, p. 1211 V. 24, p. 428	111-4-2116 through			111-7-197	New	V. 24, p. 436, 437
102-4-2	Amended	V. 24, p. 428	111-4-2125	New	V. 23, p. 311-318	111-7-198		. 1
102-4-15	Amended	V. 24, p. 428	111-4-2126	- 10	, F	through		
102-5-2	Amended	V. 24, p. 428	through			111-7-202	New	V. 24, p. 1046, 1047
102-5-14	Amended	V. 24, p. 429	111-4-2146	New	V. 23, p. 459-471	111-9-122	New	V. 23, p. 910
	AGENCY 105: BO	OARD OF	111-4-2147			111-9-123 111-9-124	New New	V. 23, p. 910 V. 24, p. 437
	IGENTS' DEFEN		through	More	V 22 - 001 000	111-9-124	New	V. 24, p. 437 V. 24, p. 438
Reg. No.	Action	Register	111-4-2160 111-4-2161	New	V. 23, p. 901-909	111-9-126	New	V. 24, p. 438
_		•	through			111-11-1		, , ,
105-4-1	Amended (T)	V. 24, p. 1597	111-4-2173	New	V. 23, p. 1025-1033	through		
105-11-1	New (T)	V. 24, p. 1598	111-4-2174	New	V. 23, p. 1074	111-11-11	New	V. 23, p. 911-914
	NCY 108: STATE		111-4-2175	New	V. 23, p. 1075	111-11-1	Amended	V. 24, p. 989
HE	ALTH CARE CO	MMISSION	111-4-2176	New	V. 23, p. 1076	111-11-4 111-11-5	Amended Amended	V. 24, p. 990 V. 24, p. 990
Reg. No.	Action	Register	111-4-2177			111-11-3	Amended	V. 24, p. 990 V. 24, p. 991
108-1-1	Amended	V. 24, p. 960	through	Now	V 23 p 1160-1171	111-12-1	New	V. 23, p. 914
		NT OF COMMERCE	111-4-2180 111-4-2181	New	V. 23, p. 1169-1171	111-12-2	New	V. 24, p. 991
			through			111-12-3	New	V. 24, p. 991
Reg. No.	Action	Register	111-4-2185	New	V. 23, p. 1343-1346	111-13-1	New	V. 24, p. 1607
110-11-1	New	V. 24, p. 429	111-4-2186		_	111-13-3		
110-11-2	New	V. 24, p. 429	through	NI	V 22 1424 1422	through 111-13-9	New	V. 24, p. 1608-1610
110-11-3	New	V. 24, p. 429	111-4-2195 111-4-2186	New Amended	V. 23, p. 1434-1438 V. 24, p. 1599	111-14-1	New	V. 24, p. 1610 V. 24, p. 1610
110-12-1 through			111-4-2186 111-4-2187	Amended Amended	V. 24, p. 1599 V. 24, p. 1600			IG AND GAMING
110-12-6	New	V. 24, p. 371	111-4-2188	Amended	V. 24, p. 1600 V. 24, p. 1600	AGEN	COMMIS	
110-13-1		, r · - · · ·	111-4-2196		, ,	Dog Ma		
through	NT	17.04 4000 5055	through	N.T.	T/ 00 4/55 1/50	Reg. No.	Action	Register
110-13-10	New	V. 24, p. 1209-1211	111-4-2205	New	V. 23, p. 1655-1659	112-10-5	Amended	V. 24, p. 1263

AG	ENCY 115: DEPAR' WILDLIFE AND I		AGEN	CY 120: HEALTH GOVERNING I		123-12-1302 New 123-12-1303 New 123-12-1306 New	V. 24, p. 312 V. 24, p. 312 V. 24, p. 312
Reg. No.	Action	Register	Reg. No.	Action	Register	123-12-1308 New	V. 24, p. 312 V. 24, p. 313
115-2-1	Amended	V. 24, p. 1688	120-1-1	Revoked (T)	V. 24, p. 1377	123-13-101 New	V. 24, p. 342
115-2-4	Amended	V. 24, p. 1689	120-1-1	Revoked	V. 24, p. 1734	123-13-101a New	V. 24, p. 343
115-3-2	Amended	V. 24, p. 148	120-1-2	New (T)	V. 24, p. 1377	123-13-103 New	V. 24, p. 343
115-4-2	Amended	V. 24, p. 420	120-1-2	New	V. 24, p. 1734	123-13-105 New	V. 24, p. 343
115-4-4	Amended	V. 24, p. 421	AGE	NCY 123: JUVEN	III E ILISTICE	123-13-106 New 123-13-201 New	V. 24, p. 343 V. 24, p. 343
115-4-4a	New	V. 24, p. 422	AGE	AUTHORI		123-13-201 New	V. 24, p. 343 V. 24, p. 344
115-4-6	Amended	V. 24, p. 148				123-13-2010 New	V. 24, p. 345
115-4-6a	New	V. 24, p. 151	Reg. No.	Action	Register	123-13-203 New	V. 24, p. 345
115-4-11	Amended	V. 24, p. 151	123-1-101	New	V. 24, p. 301	123-13-306 New	V. 24, p. 345
115-4-13	Amended	V. 24, p. 422	123-2-105	New	V. 24, p. 338	123-13-307 New	V. 24, p. 346
115-5-1	Amended	V. 24, p. 152	123-2-110	New	V. 24, p. 338	123-13-401	
115-5-4	New	V. 24, p. 752	123-5-101	New	V. 24, p. 339	through	77.04 046.040
115-7-2	Amended	V. 24, p. 153	123-5-106	New	V. 24, p. 339	123-13-404 New	V. 24, p. 346-348
115-9-4	Amended	V. 24, p. 153	123-5-111	New	V. 24, p. 339	123-13-405a New 123-13-406 New	V. 24, p. 349 V. 24, p. 349
115-9-9	New	V. 24, p. 1112	123-5-112	New	V. 24, p. 340	123-13-400 New	V. 24, p. 350
115-11-1	Amended	V. 24, p. 752	123-5-505	New	V. 24, p. 340	123-13-409 New	V. 24, p. 350
115-11-2	Amended	V. 24, p. 153	123-12-101 through			123-13-501 New	V. 24, p. 350
115-15-1	Amended	V. 24, p. 154	123-12-107	New	V. 24, p. 301, 302	123-13-502a New	V. 24, p. 350
115-15-2	Amended	V. 24, p. 155	123-12-107	INCW	v. 24, p. 301, 302	123-13-505	
115-18-1	Amended	V. 24, p. 156	through			through	
115-18-7	Amended	V. 24, p. 159	123-12-210	New	V. 24, p. 302, 303	123-13-509 New	V. 24, p. 350, 351
115-18-10	Amended	V. 24, p. 753	123-12-301		, ,	123-13-601 New 123-13-602 New	V. 24, p. 351 V. 24, p. 351
115-18-14	Amended	V. 24, p. 1689	through			123-13-602 New	V. 24, p. 351 V. 24, p. 351
115-20-1 115-20-2	Amended	V. 24, p. 159	123-12-315	New	V. 24, p. 303-305	123-13-610 New	V. 24, p. 351
115-20-2	Amended	V. 24, p. 160	123-12-317	New	V. 24, p. 305	123-13-701	, F
115-21-1	Revoked Revoked	V. 24, p. 1690	123-12-318	New	V. 24, p. 305	through	
115-21-2	Revoked	V. 24, p. 1690	123-12-319	New	V. 24, p. 306	123-13-704 New	V. 24, p. 352, 353
113-21-4	Revokeu	V. 24, p. 1690	123-12-321			123-13-706 New	V. 24, p. 353
A	GENCY 117: REAL	ESTATE	through		17.04	123-13-707 New	V. 24, p. 353
	APPRAISAL BO	ARD	123-12-325	New	V. 24, p. 306	123-15-101 New	V. 24, p. 353
Reg. No.	Action	Register	123-12-327	New	V. 24, p. 306	123-15-101a New 123-15-101b New	V. 24, p. 354 V. 24, p. 354
· ·		· ·	123-12-328	New	V. 24, p. 307	123-15-1010 New	V. 24, p. 354 V. 24, p. 354
117-2-2a	New	V. 24, p. 1079	123-12-401	New	V. 24, p. 307	123-15-104 New	V. 24, p. 355
117-2-3	Amended (T)	V. 24, p. 1141	123-12-501			123-15-105 New	V. 24, p. 355
117-2-3	Amended	V. 24, p. 1595	through 123-12-505	New	V. 24, p. 307, 308	123-15-105a New	V. 24, p. 356
117-3-2a	New	V. 24, p. 1079	123-12-505b		V. 24, p. 307, 308 V. 24, p. 308	123-15-106 New	V. 24, p. 356
117-3-3	Amended (T)	V. 24, p. 1141	123-12-506	New	V. 24, p. 308 V. 24, p. 308	123-15-201 New	V. 24, p. 356
117-3-3	Amended	V. 24, p. 1595	123-12-601	New	V. 24, p. 308	123-16-102 New	V. 24, p. 356
117-4-2a	New	V. 24, p. 1080	123-12-602	New	V. 24, p. 310	123-16-105 New	V. 24, p. 357
117-4-3	Amended (T)	V. 24, p. 1141	123-12-702	New	V. 24, p. 310	AGENCY 127: KAI	
117-4-3	Amended	V. 24, p. 1595	123-12-801	New	V. 24, p. 310	RESOURCES CO	ORPORATION
117-5-2a	New	V. 24, p. 1080	123-12-901	New	V. 24, p. 310	Reg. No. Action	Register
117-6-3	Amended	V. 24, p. 77	123-12-902	New	V. 24, p. 310	127-1-1 New	V. 24, p. 848
117-7-1	Amended	V. 24, p. 78	123-12-1001	New	V. 24, p. 311		
117-8-1	Amended	V. 24, p. 78	123-12-1002		V. 24, p. 311	AGENCY 129: DE	
AGENCY	118: STATE HISTO	ORICAL SOCIETY	123-12-1101	New	V. 24, p. 311	ADMINISTRATIO HEALTH POLICY	
			123-12-1201	New	V. 24, p. 312		
Reg. No.	Action	Register	123-12-1202		V. 24, p. 312	Reg. No. Action	Register
118-5-10	Amended	V. 24, p. 1632	123-12-1301	New	V. 24, p. 312	129-5-1 New	V. 24, p. 1595

Order a custom-made loose-leaf binder for the Kansas Register!

Custom-made binders are available to attractively hold City of Overland Park Notice to bidders.... Notice to bidders for state purchases..... up to a year's worth of your copies of the Kansas Register for permanent use. The high quality, durable

casebound swinge-hinge binders are manufactured by ABZ Binder. (A swinge-hinge binder has more capacity and allows for easier interfiling than standard ring binders.) The three-inch binder features dark blue supported vinyl covering and gold imprinting, with a label holder on the spine.

ment of Administrati

ns 2001-48 through 2001-5¢

\$15 each, includes shipping and handling.

(Kansas residents must include applicable state and local sales tax.)

	,
	Clip and mail
Please send	Kansas Register Binders @ \$15 (Note: Kansas residents must include applicable state and local sales tax.)
Total enclosed	Ship to:
Shipping is by	
U.P.S. Delivery Service— Street address is necessary.	

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594

	Use this form or a copy of it to en	nter a subscription:	
	_ One-year subscription @ \$80 ea. (Kansas residents must include applicable state and local sales tax.)		Rec. No.
Total Enclosed (Make check payable to the Kansas Register) Send to:			Exp
(Please, no more than 4 address lines.)		<u> </u>	Exp Code
	Zip code must be in	<u>cluded</u>	
Remov	Use this form or a copy of it to enter a ve your mailing label (above) and affix it here:	name or address chan Indicate change of name here:	